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Name of the Candidate (in Capitals)
ijh{kkFkhZ dk uke (cM+s v{kjksa esa)  :
Form Number : in figures
QkWeZ uEcj : vadksa esa

: in words
: 'kCnksa esa

Centre of Examination (in Capitals) :
ijh{kk dsUæ (cM+s v{kjksa esa)  :
Candidate’s Signature : Invigilator’s Signature :
ijh{kkFkhZ ds gLrk{kj : fujh{kd ds gLrk{kj :

)/999DMD31/319//8)(0999DMD310319008) Test Pattern

egRoiw.k Z funs Z'k  :
1. mÙkj i= ds i`"B-1 ,oa i`"B-2 ij /;kuiwoZd dsoy uhys@dkys ckWy

ikWbaV isu ls fooj.k HkjsaA
2. ijh{kk dh vof/k 3 ?kaVs gS ,oa ijh{kk iqfLrdk esa 180 iz'u gSaA izR;sd

iz'u 4 vad dk gSA izR;sd lgh mÙkj ds fy, ijh{kkFkhZ dks 4 vad

fn, tk,axsaA izR;sd xyr mÙkj ds fy, dqy ;ksx esa ls ,d vad

?kVk;k tk,xkA vf/kdre vad 720 gSA

3. bl i`"B ij fooj.k vafdr djus ,oa mÙkj i= ij fu'kku yxkus ds
fy, dsoy uhys@dkys ck Wy ik WbaV isu dk iz;ksx djsaA

4. jQ dk;Z bl ijh{kk iqfLrdk esa fu/kkZfjr LFkku ij gh djsaA

5. ijh{kk lEiék gk su s ij] ijh{kkFkh Z d{k@gk Wy Nk sM+u s ls iwoZ
mÙkj i= fujh{kd dks vo'; lkSai ns aA ijh{kkFkhZ vius lkFk
dsoy ijh{kk iqfLrdk dks ys tk ldrs gS aA

6. ijh{kkFkhZ lqfuf'pr djsa fd bl mÙkj i= dks eksM+k u tk, ,oa ml
ij dksbZ vU; fu'kku u yxk,aA ijh{kkFkhZ viuk QkWeZ uEcj iz'u

iqfLrdk@mÙkj i= esa fu/kkZfjr LFkku ds vfrfjDr vU;= u fy[ksaA

7. mÙkj i= ij fdlh izdkj ds la'kks/ku gsrq OgkbV ¶+yqbM ds iz;ksx dh
vuqefr ugha gSA

8. ;fn vki fdlh iz'u dks gy djus dk iz;kl djrs gSa rks mfpr xksys
dks uhps n'kkZ;s x;s vuqlkj xgjk dkyk djsa vU;Fkk mls [kkyh NksM+ nsaA
lgh rjhdk xyr rjhdk

Important Instructions :
1. On the Answer Sheet, fill in the particulars on Side-1

and Side-2 carefully with blue/black ball point pen only.
2. The test is of 3 hours duration and this Test Booklet

contains 180 questions. Each question carries 4 marks.
For each correct response, the candidate will get 4 marks.
For each incorrect response, one mark will be deducted
from the total scores. The maximum marks are 720.

3. Use Blue/Black Ball Point Pen only for writing
particulars on this page/marking responses.

4. Rough work is to be done on the space provided for this
purpose in the Test Booklet only.

5. On completion of the test, the candidate must
hand over the Answer Sheet to the Invigilator
before leaving the Room/Hall. The candidates are
allowed to take away this Test Booklet with them.

6. The candidates should ensure that the Answer Sheet is
not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Form No. anywhere else except
in the specified space in the Test Booklet/Answer Sheet.

7. Use of white fluid for correction is not permissible on
the Answer Sheet.

8. If you want to attempt any question then circle should be
properly darkened as shown below, otherwise leave blank.
Correct Method Wrong Method

In case of any ambiguity in translation of any question, English version shall be treated as final.
iz'uks a ds vuqokn es a fdlh vLi"Vrk dh fLFkfr es a] vaxzsth laLdj.k dks gh vafre ekuk tk,sxkA
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1. A person wants to drive motorcycle on the vertical
surface of a large cylindrical wooden well
commonly known as death well in a circus. The
radius of well is 5m and the coefficient of friction
between the tyres of the motorcycle and the wall of
the well is 0.5 . The minimum speed, the motorcyclist
must have in order to prevent slipping should be
(in ms–1)  :
(1) 10 (2) 100 (3)  5 (4) 25

2. A right-angled triangle abc, made from a metallic
wire,  moves at  a  uniform speed v in its  plane as
shown in figure. A uniform magnetic field B exists
along the perpendicular to the plane and outwards.
The emf induced in the loop abc, in the segment
bc, in the segment ac and in the segment ab are

a c

b

v

B

(1) zero;  v B(bc),  +ve at  c,  zero;  v  B(bc),  +ve at  a

(2) v B(bc), +ve at c, zero; zero; v B(bc), +ve at a

(3) zero; zero; v B(bc), +ve at c, v B(bc), +ve at a

(4) v B(bc), +ve at c, v B(bc), +ve at a; zero; zero

3. A thin flexible wire of length L is connected to two
adjacent fixed points carries a current I in the
clockwise direction, as shown in the figure. When
system is put in a uniform magnetic field of
strength B going into the plane of paper, the wire
takes the shape of a circle. The tension in the wire
is

   

(1) IBL (2) 
IBL

p
(3) 

IBL
2p

(4) 
IBL
4p

TOPIC : Work, Energy & Power, Circular Motion, Magnetic effect of current and Magnetism, Collisions and Centre
of Mass, Electromagnetic Induction, Rotational Motion, Alternating current, Electromagnetic Waves

1. ,d O;fDr lkekU;r% ldZl esa ^^ekSr dk dq¡vka** ds :i esa

tkus okyh ydM+h dh csyukdkj Å/oZ nhokj ij eksVj lkbZfdy

pykuk pkgrk gSaA nhokj dh f=T;k 5m gS vkSj eksVj lkbZfdy

ds Vk;jks a o dq¡, dh nhokj ds chp ?k"k Z.k xq.kkad 0.5 gSaA eksVj

lkbZfdy lokj dks fQlyus ls cpus ds fy, U;wure pky fdruh

j[kuh gksxh (ms–1 esa) &
(1) 10 (2) 100 (3)  5 (4) 25

2. /kkfRod rkj ls fufeZr ,d ledks.k f=Hkqt abc, fp= esa n'kkZ;s

vuqlkj blds ry esa ,d leku pky v ds lkFk xfr'khy gSA ry

ds yEcor~ fn'kk esa ckgj dh vksj bafxr le:i pqEcdh; {ks=

B fo|eku gSA ywi abc, Hkkx bc rFkk Hkkx ac vkSj Hkkx ab

esa izsfjr fo-ok-c- gS %

a c

b

v

B

(1) 'kwU;; v B(bc), +ve at c, 'kwU;;  v  B(bc),  +ve at  a

(2) v B(bc),  +ve at  c,  'kwU;; 'kwU;;  v  B(bc),  +ve at  a

(3) 'kwU;; 'kwU;;  v  B(bc),  +ve at  c,  v  B(bc),  +ve at  a

(4) v B(bc), +ve at c, v B(bc), +ve at a; 'kwU;; 'kwU;

3. ikl&ikl fLFkr nks fLFkj fcUnqvksa ls tqM+k L yEckbZ okys ,d irys

,oa yphys rkj ls nf{k.kkorhZ fn'kk esa I /kkjk izokfgr gks jgh gSA

tc bl fudk; dks dkxt ds ry ds vUnj dh vksj bafxr B

rhozrk okys le:i pqEcdh; {ks= esa j[kk tkrk gS] rkj o`Ùkkdkj

vkd`fr izkIr dj ysrk gSA rkj esa ruko gS %&

   

(1) IBL (2) 
IBL

p
(3) 

IBL
2p

(4) 
IBL
4p
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4. fp=  es a n'kk Z;h x;h O;oLFkk es a ]  mA = 4.0 kg rFkk

mB = 1.0 kg gSA fudk; dks fojkekoLFkk ls NksM+k tkrk gS vkSj

1 m uhps mrjus ds i'pkr~ CykWd B dh pky 0.3 m/s izkIr gksrh

gSA CykWd A ,oa Vscy ds chp ?k"kZ.k xq.kkad dk eku Kkr dhft;sA

vU; fdlh Hkh txg ?k"kZ.k xkS.k eku yhft;s (g = 10 m/s2)

A

B

(1) 0.231 (2) 0.501 (3) 0.115 (4) 0.23

5. ml izR;korhZ /kkjk dk o-ek-ew- eku] tc og fdlh izfrjks/k ls

izokfgr fd;s tkus ij mruh Å"ek mRiUu djrh gS] ftruh mlh

izfrjksèk ls 2 A fn"V /kkjk izokfgr djus ij gksrh gS] gksxk %&

(1)  6  A (2)  3  A (3)  2  A (4) 2 3 A

6. v osx ls xfr'khy xsan] u osx ds lkFk mldh vksj vk jgh ,d

Hkkjh nhokj ls Vdjkrh gSA Dt le;karjky ds fy, izR;kLFk la?kV~V

gksrk gSA fuEu dFkuksa ij fopkj dhft;s %&

a. xsan ij vkSlr izR;kLFk cy [m(u + v)]/Dt gSA

b. xsan ij vkSlr izR;kLFk cy [2m(u + v)]/Dt gSA

c. xsan dh xfrt ÅtkZ es a 2mu (u + v) o`f¼ gks tkrh

gSA

d. VDdj ds i'pkr~ xsan dh xfrt ÅtkZ leku jgrh gSA

lgh dFku gS %&

(1)  a,  d (2)  b,  c (3)  a,  c (4)  b,  d

7. lgh dFku pqfu;s %&
(1) foLFkkiu /kkjk dsoy ifjorZu'khy pqEcdh; {ks= }kjk gh

mRiUu gksrh gSA
(2) foLFkkiu /kkjk dsoy ifjoruZ'khy fo|qr {ks= }kjk gh mRiUu

gksrh gSA
(3) foLFkkiu /kkjk ifjorZu'khy fo|qr {ks= }kjk mRiUu gksrh gS

vkSj ifjorZu'khy pqEcdh; {ks= }kjk HkhA
(4) foLFkkiu /kkjk u rks ifjorZu'khy fo|qr {ks= }kjk vkSj u gh

ifjorZu'khy pqEcdh; {ks= }kjk mRiUu dh tk ldrh gSA

4. In the arrangement shown in figure mA = 4.0 kg and
mB = 1.0 kg. The system is released from rest and
block B is found to have a speed 0.3 m/s after it
has descended through a distance of 1 m. Find the
coefficient of friction between the block A and the
table. Neglect friction elsewhere. (Take g = 10 m/s2)

A

B

(1) 0.231 (2) 0.501 (3) 0.115 (4) 0.23
5. The rms value of an alternating current, which

when passed through a resistor produces heat three
times of that produced by a direct current of 2 A
in the same resistor, is

(1)  6  A (2)  3  A (3)  2  A (4) 2 3 A

6. A ball moving with a velocity v hits a massive wall
moving towards the ball with a velocity u. An
elastic impact lasts for time Dt. Consider the
following statements
a. The average elastic force acting on the ball is

[m(u + v)]/Dt.
b. The average elastic force acting on the ball is

[2m(u + v)]/Dt.
c. The kinetic energy of the ball increases by

2mu (u + v).
d. The kinetic energy of the ball remains the same

after the collision.
Correct statements are :-
(1)  a,  d (2)  b,  c (3)  a,  c (4)  b,  d

7. Mark the correct statement :-
(1) Displacement current is produced only by

varying magnetic field.
(2) Displacement current is produced by varying

electric field only.
(3) Displacement current is produced by varying

electric field as well as varying magnetic field.
(4) Displacement current can be produced neither by

varying electric field nor by varying magnetic field.
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8. nks n`<+ oLrq,¡ A o B Øe'k% LA o LB dks.kh; laosxksa ds lkFk

?kw.kZu dj jgh gSA ?kw .kZu v{kksa ds ifjr% A o B ds tM+Ro vk?kw .kZ

Øe'k% IA o IB gSaA ;fn IA = IB/4,  LA = 5LB gS vkSj A

dh ?kw.kZu xfrt ÅtkZ KA rFkk B dh ?kw.kZu xfrt ÅtkZ KB

gS] rks

(1) 
A

B

K 25
K 4

= (2) 
A

B

K 5
K 4

=

(3)
A

B

K 1
K 4

= (4) 
A

B

K
100

K
=

9. 220 V izR;korhZ fo-ok-cy dks 4.4 kV ij 6.6 kW 'kfDr

lapj.k ds fy, mPphd`r djus gsrq ,d vkn'kZ VªkalQkeZj iz;qDr

fd;k tk jgk gSA f}rh;d esa /kkjk gS &

(1)  30  A (2)  3  A (3)  1.5  A (4)  1  A

10. ,d tSlh rhu dkjsa A, B ,oa C leku pky ds lkFk rhu iqyksa

ij xfr'khy gSaA dkj A lery iqy ij] dkj B Åij dh vksj

mÙky iqy ij vkSj dkj C Åij dh vksj vory iqy ij tk jgh

gSA ekukfd tc dkjsa iqyksa ds e/; esa gS] dkjksa ds }kjk iqyksa ij

yxk;s x;s vfHkyEcor~ cy Øe'k% FA,  FB rFkk FC gSaA rks

(1) rhuksa cyksa esa FA vf/kdre gSA

(2) rhuksa cyksa esas FB vf/kdre gSA

(3) rhuksa cyksa esas FC vf/kdre gSA
(4) FA = FB = FC

11. e = e0[cos(100 p)t + cos(500 p)t] fo-ok-c- mRiUu dj

jgs izR;korhZ L=ksr ds lkFk ,d la/kkfj= ,oa ,d izfrjks/k Js.khØe

esa la;ksftr fd;s x;s gSaA LFkk;h voLFkk esa ifjiFk esa /kkjk

i = i1 cos[(100 p)t + f1] + i2 cos[(500 p)t + f2] izkIr

gksrh gS] rks
(1) i1 >  i2 (2) i1 =  i2

(3) i1 <  i2 (4) buesa ls dksbZ ugha

12. ,d dq.Myh vk;rkdkj vuqizLFk dkV okyh Ýse ij yisVh x;h

gSA ;fn Ýse dh leLr js[kh; foek,a 2 xquk dj nh tkrh gSa vkSj

dq.Myh dh ,dkad yEckbZ esa Qsjksa dh la[;k leku jgrh gS]

dq.Myh dk Lo&izsjdRo fdrus xquk gks tk;sxk &
(1)  4 (2)  8

(3) 12 (4) 16

8. Two rigid bodies A and B rotate with angular

momenta LA and LB respectively. The moments of

inertia of A and B about the axes of rotation are

IA and IB respectively.  If  IA =  IB/4,  LA =  5LB,

rotational kinetic energy KA of A and the rotational

kinetic energy KB of  B,  then  :

(1) 
A

B

K 25
K 4

= (2) 
A

B

K 5
K 4

=

(3)
A

B

K 1
K 4

= (4) 
A

B

K
100

K
=

9. An ideal transformer is used to step up an
alternating emf of 220 V to 4.4 kV to transmit
6.6kW of power. The current rating of the
secondary is
(1)  30  A (2)  3  A (3)  1.5  A (4)  1  A

10. Three identical cars A, B and C are moving at the same
speed on three bridges. The car A goes on a plane
bridge, B on a bridge convex upwards and C goes on
a bridge concave upwards. Let FA,  FB and FC be the
normal forces exerted by the cars on the bridges when
they are at the middle of the bridges. Then :

(1) FA is maximum of the three forces

(2) FB is maximum of the three forces

(3) FC is maximum of the three forces

(4) FA = FB = FC

11. An AC source producing

emf e = e0[cos(100 p)t + cos(500 p)t] is connected

in series with a capacitor and a resistor. The

steady-state current in the circuit is found to be

i = i1 cos[(100 p)t + f1] + i2 cos[(500 p)t + f2], then

(1) i1 >  i2 (2) i1 =  i2

(3) i1 <  i2 (4) none of these

12. A coil is wound on a frame of rectangular
cross-section. If all the linear dimensions of the
frame are doubled and the number of turns
per unit length of the coil remains the same,
self-inductance of the coil increases by a factor of
(1)  4 (2)  8
(3) 12 (4) 16
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13. There are 103 turns/m in  a  Rowland's  ring  and  a
current of 2A is flowing in its windings. The value
of magnetic induction produced is found to be
1.0T. When no core is present, then the
magnetising field produced in the ring will be-
(1) 1000 A/m (2) 2000 A/m
(3) 7.94 × 105 A/m (4) Zero

14. A force ( )2

k
F x 0

x
= - ¹  acts on a particle in

x-direction. Find the work done by this force in
displacing the particle from x = +a to x = +2a. Here
k is a positive constant.

(1)
k
a

(2) 
k
a

- (3) 
k
2a

- (4) 
k
2a

15. Three particles of equal masses are placed at the
corners of an equilateral triangle as shown in the
figure. Now particle A starts with a velocity v1
towards line AB, particle B starts with a velocity
v2 towards line BC and particle C starts with
velocity v3 towards line CA. The displacement of
CM of three particle A, B and C after time t will
be (given if v1 = v2 =  v3)

A

B C

v3v1

v2

(1) zero (2) 1 2 3v v v
t

3
+ +

(3) 
3

1 2

v3
v v

2 2 t
3

+ +
(4) 1 2 3v v v

t
4

+ +

16. A uniform disk turns at 2.4 rev/s around a
frictionless axis. A nonrotating rod, of the same
mass as the disk and length equal to the disk's
diameter is dropped onto the freely spinning disk
(see the figure). They then both turn aound the
axis with their centres superposed. What will be
the angular frequency of the combination when
they start rotating together.

(1) 1.2 rev/s

(2) 2.0 rev/s            

(3) 1.44 rev/s

(4) 0.96 rev/s

13. jksys.M oy; esa Qsjksa dh la[;k 103 Qsjs@eh- gS rFkk blesa 2A

dh /kkjk izokfgr gks jgh gSA oy; esa mRiUu pqEcdh; izsj.k dk
eku 1.0T ik;k x;kA oy; esa mRiUu pqEcdh; {ks= dk eku gksxk
tcfd mlesa dksbZ dksj mifLFkr ugha gS&
(1) 1000 A/m (2) 2000 A/m

(3) 7.94 × 105 A/m (4) 'kwU;

14. cy ( )2

k
F x 0

x
= - ¹  ,d d.k ij x-fn'kk esa yx jgk gSA d.k

dks x = +a ls x = +2a rd foLFkkfir djus esa bl cy }kjk

fd;k x;k dk;Z Kkr dhft;sA ;gk¡ k ,d /kukRed fu;rkad gSA

(1)
k
a

(2) 
k
a

- (3) 
k
2a

- (4) 
k
2a

15. leku nzO;ekuksa okys rhu d.k fp= esa n'kkZ;s vuqlkj ,d leckgq

f=Hkqt ds dksuksa ij j[ks gq, gSaA vc d.k A, v1 osx ds lkFk js[kk

AB ds vuqfn'k] d.k B, v2 osx ds lkFk js[kk BC ds vuqfn'k

vkSj d.k C, v3 osx ds lkFk js[kk CA ds vuqfn'k xfr izkjEHk

dj nsrs gSa rks t le; ds i'pkr~ nzO;eku dsUnz dk foLFkkiu gskxk&

(fn;k gS ;fn v1 = v2 =  v3)

A

B C

v3v1

v2

(1) 'kwU; (2) 1 2 3v v v
t

3
+ +

(3) 
3

1 2

v3
v v

2 2 t
3

+ +
(4) 1 2 3v v v

t
4

+ +

16. ,d le:i pdrh bldh ?k"k Z.k jfgr v{k ds ifjr%
2.4 pDdj/lsd.M ds lkFk ?kw .kZu dj jgh gSA leku nzO;eku ,oa
pdrh ds O;kl ds cjkcj yEckbZ okyh ,d v?kw f.kZr NM+ n'kkZ;s
vuqlkj pØ.k dj jgh pdrh ij eqDr :i ls fxjk nh tkrh gSaA
(fp= ns[kh;s) rc os nksuksa dsUnzksa dks lEikfrr j[krs gq, v{k ds
ifjr% ?kw.kZu djrh gSaA tc os ,d lkFk ?kw.kZu izkjEHk dj ns rks la;kstu
dh dks.kh; vko`fÙk gksxh &

(1) 1.2 rev/s

(2) 2.0 rev/s            

(3) 1.44 rev/s

(4) 0.96 rev/s
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17. A charged particle entering a magnetic field from
outside in a direction perpendicular to the field
(1) can never complete one rotation inside the field
(2) may or may not complete one rotation in the

field depending on it angle of entry into the field
(3) will always complete exactly half of a rotation

before leaving the field
(4) may allow a helical path depending on its

angle of entry into the field
18. A stationary body explodes in to four identical

fragments such that three of them fly mutually
perpendicular to each other, each with same
KE(E0). The energy of explosion will be
(1) 6E0 (2) 3E0 (3) 4E0 (4) 2E0

19. A road of width 20 m forms an arc of radius 15 m,
its outer edge is 2 m higher than its inner edge.
For what speed the rod is banked?

(1) 10 m/s (2) 14.7 m/s

(3) 9.8 m/s (4) None of these

20. The time constant of an inductance coil is
2.0 × 10–3 s. When a 90 W resistance is joined in
series, the time constant becomes 0.5 × 10–3 s. The
inductance and resistance of coil are
(1) 30 mH; 30 W (2) 30 mH; 60 W
(3) 60 mH; 30 W (4) 60 mH; 60 W

21. A sphere S rolls without slipping, moving with a
constant speed on a plank P.   The friction between
the upper surface of P and the sphere is sufficient
to prevent slipping, while the lower surface of P
is smooth and rests on the ground. Initially, P is
fixed to the ground by a pin T. If T is suddenly
removed-

v r = w
w

r
P

S

T

(1) S will begin to slip on P.
(2) P will begin to move backwards.
(3) the speed of S will decrease and its angular

velocity will increase.
(4) there will be no change in the motion of S

and P will still be at rest.

17. pqEcdh; {ks= esa] {ks= dh fn'kk ds yEcor~ ckgj ls izos'k dj
jgk vkosf'kr d.k %
(1) dHkh Hkh {ks= esa ,d pDdj iwjk ugha dj ldrk gS
(2) ,d pDdj iwjk djsxk vFkok ugha djsxk ;g {ks= esa izos'k

djus ds dks.k ij fuHkZj djsxk
(3) {ks= dks NksM+us ls iwoZ lnSo Bhd vk/kk pDdj iwjk djsxk
(4) blds {ks= esa izos'k djus ds dks.k ds vuqlkj gsfydy iFk

ij tk ldrk gSA

18. ,d fLFkj oLrq] ,d tSls pkj VqdM+ksa esa bl izdkj foLQksfVr gksrh

gS fd muesa ls rhu ijLij yEcor~ fn'kkvksa esa mM+ tkrs gSa] izR;sd

leku xfrt ÅtkZ (E0) ds lkFkA foLQksV dh ÅtkZ gS &

(1) 6E0 (2) 3E0 (3) 4E0 (4) 2E0

19. 20 m ehVj pkSM+h ,d lM+d 15 m f=T;k dk pki cukrh gS]

bldk ckgjh fdukjk] vkUrfjd fdukjs ls 2 m Å¡pk gSA lM+d

dks fdruh pky ds fy, cafdr fd;k x;k gS\

(1) 10 m/s (2) 14.7 m/s

(3) 9.8 m/s (4) buesa ls dksbZ ugha

20. ,d izsjd dq.Myh dk le; fLFkjkad 2.0 × 10–3 s gSA tc

90 W izfrjks/k Js.khØe esa tksM+k tkrk gS] le; fLFkjkad

0.5 × 10–3 s gks tkrk gSA dq.Myh dk izsjdRo ,oa izfrjks/k gaS&
(1) 30 mH; 30 W (2) 30 mH; 60 W
(3) 60 mH; 30 W (4) 60 mH; 60 W

21. ,d xksyk S fcuk fQlys] fu;r pky ds lkFk iV~Vs P ij yq<+d

jgk gSA P dh Åijh lrg rFkk xksys ds chp fQlyu dks jksdus

ds fy;s i;kZIr ?k"kZ.k gS] tcfd P dh fupyh lrg fpduh gS

vkSj tehu ij fVdh gqbZ gSA izkjEHk esa P tehu ij dhy T }kjk

fVdk gqvk gSA ;fn vpkud T dks gVk fn;k tkrk gS &

v r = w
w

r
P

S

T

(1) S, P ij fQlyuk 'kq: dj nsxkA

(2) P ihNs dh vksj xfr djus yxsxkA

(3) S dh pky ?kVsxh vkSj bldk dks.kh; osx c<+sxkA

(4) S dh xfr esa dksbZ ifjorZu ugha gksxk vkSj P fLFkj cuk
jgsxkA
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22. If a charge particle kept at rest experiences an
electromagnetic force,

(i) the electric field must not be zero

(ii) the magnetic field must not be zero

(iii) the electric field may or may not be zero

(iv) the magnetic field may or may not be zero

(1) (i), (ii) (2) (ii), (iv)

(3) (ii), (iii) (4) (i), (iv)

23. In the given circuit, R is a pure resistor, L is a pure
inductor, S is a ac source of 100 V, 50 Hz and A
is an ac ammeter. With either K1 or  K2 alone
closed,  the  ammeter  reading  is  I.  If  the  source  is
changed to 100 V, 100 Hz, the ammeter reading
with K1 alone closed and with K2 alone closed will
be respectively,

S
R

A

K1 K2

L

(1) 
I

I,
2

(2) I, 2I (3)  2I,  I (4) 
I

2I,
2

24. A vertical ring of radius r and resistance R falls
vertically. It is in contact with two vertical conducting
rails which are joined at the top. The rails are without
friction and resistance. There is a horizontal uniform,
magnetic field of magnitude B perpendicular to the
plane of the ring and the rails. When the speed of
the ring is v, the current in the section PQ is

×          ×

×          ×

×          ×

P Q

(1) zero (2) 
2Brv

R
(3) 

4Brv
R

(4) 
8Brv

R

22. ;fn fojkekoLFkk esa j[kk gqvk dksbZ vkosf'kr d.k ,d fo|qr

pqEcdh; cy vuqHko djrk gS

(i) fo|qr {ks= fuf'pr :i ls 'kwU; ugha gksxk

(ii) pqEcdh; {ks= fuf'pr :i ls 'kwU; ugha gksxk

(iii) fo|qr {ks= 'kwU; gks Hkh ldrk gS vkSj ugha Hkh

(iv) pqEcdh; {ks= 'kwU; gks Hkh ldrk gS vkSj ugha Hkh
(1) (i), (ii) (2) (ii), (iv)
(3) (ii), (iii) (4) (i), (iv)

23. fn;s x;s fp= esa] R ,d 'kq¼ izfrjks/k gS] L ,d 'kq¼ izsjdRo]

S 100 V, 50 Hz dk izR;korhZ L=ksr vkSj A ,d izR;korhZ

vehVj gSA K1 vFkok K2 nksuksa esa ls fdlh ,d ds cUn gksus ij

vehVj dk ikB~;kad I gSA ;fn L=ksr dks 100 V, 100 Hz ls

ifjofrZr dj fn;k tk;s rks vdsys K1 cUn rFkk vdsys K2 cUn

ds lkFk vehVj ds ikB~;kad gksaxs

S
R

A

K1 K2

L

(1) 
I

I,
2

(2) I, 2I (3)  2I,  I (4) 
I

2I,
2

24. r f=T;k ,oa R izfrjks/k okyh ,d Å/okZ/kj oy;] Å/okZ/kj fxj

jgh gSA ;g Åijh fljs ij tqM+h gqbZ nks Å/oZ iVfj;ksa ds lEidZ

esa gSA iVfj;k¡ izfrjks/k ,oa ?k"kZ.k jfgr gSaA ogk¡ ij iVfj;ksa ,oa oy;

ds ry ds yEcor~ B ifjek.k dk le:i {kSfrt pqEcdh; {ks=

fo|eku gSa tc oy; dh pky v gS] Hkkx PQ esa /kkjk gS %&

×          ×

×          ×

×          ×

P Q

(1) zero (2) 
2Brv

R
(3) 

4Brv
R

(4) 
8Brv

R
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25. A girl finds herself stuck with her back to the wall
of a cylinder rotating about its axis. Which
diagram correctly shows the forces acting on her?

(1) (2) 

(3) (4) 

26. A block is released one by one from the top of two
inclined rough surfaces of height h each. The
angles of inclination of the two planes are 30° and
60° respectively. All other factors (e.g., coefficient
of friction, mass of block, etc.) are same in both
the cases. Let K1 and  K2 be the kinetic energies
of the block at the bottom of the plane in the two
cases. Then
(1) K1 =  K2 (2) K1 >  K2

(3) K1 < K2 (4) Data insufficient
27. A solid sphere, a hollow sphere and a disc, all

having the same mass and radius are placed at the

top of an inlcine and released. The friction

coefficients between the objects and the incline are

same and not sufficient to allow pure rolling. The

least time will be taken in reaching the bottom by

(1) the solid sphere

(2) the hollow sphere

(3) the disc

(4) all will take the same time

25. ,d csyu tks Lo;a dh v{k ds ifjr% ?kw .kZu dj jgk gS] bldh

nhokj ls ,d yM+dh viuh ihB ds lgkjs fp=kuqlkj [kM+h

gqbZ gSA yM+dh ij dk;Zjr cyks a dks n'kkZus okyk lgh fodYi

gksxk%&

(1) (2) 

(3) (4) 

26. ,d d.k dks h Å¡pkbZ okyh nks [kqjnjh vkur lrgksa ds 'kh"kZ ls

,d ds ckn ,d ds ckn ,d NksM+k tkrk gSA nksuksa vkur ryksa ds

vkufr dks.k Øe'k% 30° o 60° gSaA vU; ?kVd (tSls ?k"kZ.k

xq.kkad] CykWd dk nzO;eku vkfn) nksuksa fLFkfr;ksa esa ,d leku

gSaA ekukfd nksuksa fLFkfr;ksa esa ry ds iSans ij CykWd dh xfrt ÅtkZ,a

K1 o K2 gSaA rks

(1) K1 =  K2 (2) K1 >  K2

(3) K1 < K2 (4) vk¡dM+s vi;kZIr gSa

27. ,d Bksl xksyk] ,d [kks[kyk xksyk vkSj ,d pdrh] lcds

nzO;eku o f=T;k,a ,d leku] ,d vkur ry ds 'kh"kZ ij j[ks

gq, gSa vkSj eqDr fd;s tkrs gSaA oLrqvksa rFkk vkur ry ds chp

?k"kZ.k xq.kkad leku gS vkSj 'kq¼ ykSVuh xfr ds fy, i;kZIr ugha

gSA iSans rd igq¡pus esa lcls de le; fdldks yxsxk\

(1) Bksl xksyk

(2) [kks[kyk xksyk

(3) pdrh

(4) lcdks leku le; yxsxk
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28. In a cyclotron, the angular frequency of a charged

particle is independent

(1) Mass (2) Speed

(3) Charge (4) Magnetic field

29. Six rods of the same mass m and length l are
arranged as shown in figure. Calculate the
coordinate of the centre of mass of the system:-

y

x

(1) 
7

;
2 6

æ ö
ç ÷
è ø

l l
(2) ;

3
æ ö
ç ÷
è ø
l

l

(3)
4

;
2 3

æ ö
ç ÷
è ø

l l
(4)

5
;

2 3
æ ö
ç ÷
è ø

l l

30. A car moving on a horizontal road may be thrown
out of the road in taking a turn :

(1) by a gravitational force

(2) due to lack of proper centripetal force

(3) due to the rolling frictional force between the
tyre and road

(4) due to the reaction of the ground

31. A train has a constant speed of 40 m/s on a level
track against resistive force of magnitude
3 × 104 N, the power of engine is :-

(1) 1.2 × 106 W (2) 1.2 × 103 W

(3) 2.4 × 106 W (4) 2.4 × 103 W

32. The ratio 
True power

Apparent power  is referred to as-

(1) reactance (2) impedance

(3) power factor (4) none of these

28. lkbDyksVªkWu esa vkosf'kr d.k dh vkòfÙk fuEu ij fuHkZj ugha djrh

gS &

(1) nzO;eku (2) pky

(3) vkos'k (4) pqEcdh; {ks=

29. leku æO;eku m rFkk yEckbZ l okyh N% NM+ksa dks fp=kuqlkj

O;ofLFkr fd;k tkrk gSA fudk; ds æO;eku dsUæ ds funsZ'kkad

gksxsa %&

y

x

(1) 
7

;
2 6

æ ö
ç ÷
è ø

l l
(2) ;

3
æ ö
ç ÷
è ø
l

l

(3)
4

;
2 3

æ ö
ç ÷
è ø

l l
(4)

5
;

2 3
æ ö
ç ÷
è ø

l l

30. lery lM+d ij xfr dj jgh ,d dkj eksM+ ij ?kwers le; ckgj

dh vksj fQad ldrh gS &

(1) xq:Roh; cy ds dkj.k

(2) i;kZIr vfHkdsfUnz; cy u gksus ds dkj.k

(3) Vk;jksa ,oa lM+d ds chp ykSVuh ?k"kZ.k ds dkj.k

(4) tehu dh izfrfØ;k ds dkj.k

31. ,d Vªsu dh lery iFk ij] 3 × 104 N ifjek.k okys izfrjksèkd

cy ds fo:¼ 40 m/s fu;r pky gS] batu dh 'kfDr gS &

(1)  1.2  ×  106 W (2) 1.2 × 103 W

(3) 2.4 × 106 W (4) 2.4 × 103 W

32. vuqikr 
okLrfod 'kfDr
vkHkklh 'kfDr  dks dgrs gS&

(1) izfr?kkr (2) izfrck/kk

(3) 'kfDr xq.kkad (4) buesa ls dksbZ ugha
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33. A small stone of mass m is attached to a light string
which passes through a hollow tube. The tube is
held by one hand and the free end of the string
by the other hand. The mass is set into revolution
in a horizontal circle of radius r1 with a  speed v1.
The string is pulled down shortening the radius of
the circular path to r2. Which of the following is
not correct? (w1 EK and T have usual meanings)

(1)
2

2 1
2

1 2

r

r

w
=

w (2) 
1

2

2
k 2

2
k 1

E r
E r

=

(3) 
1

2

2
k 1

2
k 2

E r
E r

= (4) 
3

2 1
3

1 2

T r
T r

=

34. Two coaxial solenoids are made by winding thin
insulated wire over a pipe of cross-sectional area
A  =  10  cm2 and length = 20 cm. If one of the
solenoids has 300 turns and the other 400 turns,
their mutual inductance is (m0 = 4p × 10–7 TmA–1)

(1) 4.8 p × 10–4 H (2) 4.8 p × 10–5 H

(3) 2.4 p ×  10–4 H (4) 4.8 p × 104 H

35. The ozone layer of atmosphere absorbs :-

(1) visible radiations

(2) infrared radiations

(3) ultraviolet radiations

(4) radio waves

36. Three particles with equal mass move with equal
speed v along the medians of an equilateral
triangle as shown. They all collide at the centroid
simultaneously. After the collision, A comes to rest,
B retraces it’s path with same speed. What is speed
of C after the collision?

(1) v
(2) v/2
(3) 2v
(4) information insufficient

33. m nzO;eku okyk NksVk iRFkj] ,d gYdh Mksjh ls tqM+k gqvk gS]

tks ,d [kks[kyh uyh ls xqtj jgh gSA uyh dks gkFk esa idM+k gqvk

gS vkSj Mksjh dk nwljk fljk nwljs gkFk ls idM+ j[kk gSaA nzO;eku

dks v1 pky ds lkFk r1 f=T;k ds {kSfrt òÙk esa ?kwf.kZr djok;k

tkrk gSA Mksjh dks òÙkkdkj iFk dh f=T;k r2 rd NksVh gksus rd

uhps [khapk tkrk gSA fuEufyf[kr esa ls dkSulk lgh ugha gS\

(w1, EK rFkk T ds lkekU; vFkZ gSa)

(1)
2

2 1
2

1 2

r

r

w
=

w (2) 
1

2

2
k 2

2
k 1

E r
E r

=

(3) 
1

2

2
k 1

2
k 2

E r
E r

= (4) 
3

2 1
3

1 2

T r
T r

=

34. nks lek{kh; ifjufydk,a A = 10 cm2 vuqizLFk dkV okys ikbi

ij dqpkyd fyiVs gq, irys rkjksa dks yisV dj cuk;h x;h gSaA

;fn ,d ifjukfydk esa 300 Qsjs vkSj nwljh esa 400 Qsjsa gSa] mudk

vU;ksU; izsjdRo gS (m0 = 4p × 10–7 TmA–1)

(1) 4.8 p × 10–4 H (2) 4.8 p × 10–5 H

(3) 2.4 p ×  10–4 H (4) 4.8 p × 104 H

35. ok;qe.My dh vkstksu ijr vo'kksf"kr djrh gS &

(1) n`'; fofdj.kksa dks

(2) vojDr fofdj.kksa dks

(3) ijkcSaxuh fofdj.kksa dks

(4) jsfM;ks rjaxkas dks

36. leku nzO;eku ds rhu d.k fp=kuqlkj ,d leckgq f=Hkqt dh ekf/

;dkvksa ij leku pky v ls xfr'khy gSaA ;s ,d lkFk dsUnzd ij

Vdjkrs gSaA VDdj ds i'pkr~ A fojke esa vk tkrk gS] B mlh pky

ls vius iFk ij ykSV tkrk gSA VDdj ds i'pkr~ C dh pky gS :-

(1) v

(2) v/2

(3) 2v

(4) vkadM+s vi;kZIr gSa
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37. Figure shows a plot of the conservative force F in
a unidimensional field. The plot representing the
function corresponding to the potential energy (U)
in the field is

X

F

–x0 x0

(1) 
X

U

–x0 x0

(2) X

U

–x0 x0

(3) X

U

x0

x0

(4) X

U

–x0 x0

38. The power consumed in a circuit having a
resistance of 25 ohm in series with an inductance
of reactance 40 ohm in series with an a.c. with
peak current of 4.67 ampere and peak voltage of
220 volt will be-

(1) 292 W (2) 297 W

(3) 285 W (4) 277 W

37. fp= esa ,d foeh; {ks= esa ,d laj{kh cy F dk vkjs[k n'kkZ;k

x;k gSA vkjs[k {ks= esa fLFkfrt ÅtkZ (U) ds fdl Qyu dks

fu:fir dj jgk gS %&

X

F

–x0 x0

(1) 
X

U

–x0 x0

(2) X

U

–x0 x0

(3) X

U

x0

x0

(4) X

U

–x0 x0

38. ,d i zR;korh Z  ifjiFk e s a 25 vkse i zfrjk s/k ds lkFk

40 vkse izfr?kkr dh izsj.k dq.Myh Js.khØe esa tqM+h gqbZ gS] f'k[kj

/kkjk dk eku 4.67 ,Eih;j rFkk f'k[kj oksYVrk 220 oksYV gSA

ifjiFk esa O;f;r 'kfDr gS&

(1) 292 W (2) 297 W

(3) 285 W (4) 277 W
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39. The electric field strength in an electromagnetic

wave is 104 V/m. The magnitude of magnetic field

strength (in tesla) will be :-

(1) 104 (2) 3 × 1012

(3) 3.3 × 10–4 (4) 3.3 × 10–5

40. The area enclosed by a hysteresis loop is a measure

of :-

(1) retentivity

(2) susceptibility

(3) permeability

(4) energy-loss
41. A point on the periphery of a rotating disc has its

acceleration vector making an angle of 30° with the
velocity vector. The ratio ac/at (ac is centripetal
acceleration and at is tangential acceleration) equals:
(1) sin 30°
(2) cos 30°
(3) tan 30°
(4) none of these

42. A ball of mass 1 kg is thrown up with an initial speed
of 4 m/s. A second ball of mass 2 kg is released from
rest from some height as shown in figure.

u = 0 2 kg

1 kg

4 m/s

Consider the following statements :
(a) The centre of mass of the two balls comes

down with acceleration g/3.
(b) The centre of mass first moves up and then

comes down.
(c) The acceleration of the centre of mass is g

downwards.
(d) The centre of mass of the two balls remains

stationary.
Correct statements are :-
(1) only d (2) only a
(3)  a,  b (4)  b,  c

39. fdlh fo|qr pqEcdh; rjax es a fo|qr {k s= dh rhozrk

104 V/m gSA pqEcdh; {ks= dh rhozrk dk ifjek.k (VsLyk esa)

gksxk %&
(1) 104 (2) 3 × 1012

(3) 3.3 × 10–4 (4) 3.3 × 10–5

40. 'kSfFkY; oØ }kjk ifjc¼ {ks=Qy fdldk ekid gS %&

(1) /kkj.k'khyrk

(2) pqEcdh; izòfÙk

(3) ikjxE;rk

(4) ÅtkZ gkfu

41. ?kw.kZu dj jgh pdrh dh ifjf/k ij fdlh fcUnq dk Roj.k lfn'k

blds osx lfn'k ls 30° dks.k cuk jgk gSA vuqikr ac/at

(ac vfHkdsfUnz; Roj.k rFkk at Li'kZ js[kh; Roj.k gS) dk eku gS%&
(1) sin 30°

(2) cos 30°

(3) tan 30°

(4) buesa ls dksbZ ugha

42. 1 kg nzO;eku okyh xsan] 4 m/s izkjfEHkd osx ds lkFk Åij dh

vksj QSadh tkrh gSA 2 kg nzO;eku okyh nwljh xasn fp= esa n'kkZ;s

vuqlkj fojkekoLFkk ls dqN Å¡pkbZ ls fxjk;h tkrh gSA

u = 0 2 kg

1 kg

4 m/s

fuEufyf[kr dFkuksa ij fopkj dhft;s %&

(a) nksuksa xsanksa dk nzO;eku dsUnz g/3 Roj.k ds lkFk uhps vkrk

gSA

(b) nzO;eku dsUnz igys Åij dh vksj tkrk gS vkSj fQj uhps vkrk

gSA

(c) nzO;eku dsUnz dk Roj.k uhps dh vksj gSA

(d) nksuksa xsanksa dk nzO;eku dsUnz fLFkj jgrk gSA

lgh dFku gSa :-
(1) only d (2) only a

(3)  a,  b (4)  b,  c
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43. m nzO;eku] izkjfEHkd pky u rFkk iz{ksi.k dks.k q okys iz{ksI;

ds fy,] fp= esa n'kkZ;s vuqlkj izkjfEHkd ,oa vfUre fLFkfr;ksa

P ds chp iz{ksi.k fcUnq ds ifjr% vkSlr cyk?kw.kZ gS &

P Q
x

u
y

q

(1)
2mu sin 2
2

q

(2) mu2 cos q

(3) mu2 sin q

(4) 
2mu cos
2

q

44. 50 kg nzO;eku okyh yM+dh fojkekoLFkk ls ,d >wys ij >wyrh

gSA tc ;g Å/oZ ls 60° dks.k cukrs gq, Åij dh vksj

2 m/s osx ds lkFk xfr dj jgh gS] rks iznÙk 'kfDr gksxh

(1) 980 W

(2) 490 W

(3) 490 3 W

(4) 245 W

45. ,d izsj.k dq.Myh ls tc 4 A /kkjk izokfgr dh tkrh gS ;g

32 J pqEcdh; ÅtkZ lafpr djrh gS vkSj Å"ek ds :i esa

320 W dh nj ls ÅtkZ {k; djrh gSA tc bl dq.Myh dks ,d

vkn'kZ cSVjh ds lkFk tksM+k tk;s rks ifjiFk dk le; fLFkjkad gksxk&

(1) 0.1 sec

(2) 0.2 sec

(3) 0.3 sec

(4) 0.4 sec

43. Average torque on a projectile of mass m, initial
speed u and angle of projection q between initial
and final positions P and Q as shown in the figure
about the point of projection is

P Q
x

u
y

q

(1)
2mu sin2
2

q

(2) mu2 cos q

(3) mu2 sin q

(4) 
2mu cos
2

q

44. A 50 kg girl is swinging on a swing from rest.
Then, the power delivered when moving with a
velocity of 2 m/s upwards in a direction making
an angle 60° with the vertical is

(1) 980 W

(2) 490 W

(3) 490 3 W

(4) 245 W

45. An inductor coil stores 32 J of magnetic field

energy and dissipates energy as heat at the rate of

320 W when a current of 4 A is passed through

it. The time constant of circuit when this coil is

joined across ideal battery

(1) 0.1 sec

(2) 0.2 sec

(3) 0.3 sec

(4) 0.4 sec
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46. The main factor responsible for weak acidic nature
of BF3 is :-

(1) Large electronegativity of F

(2) 3C-2e– bond in BF3

(3) Pp –  dp back boding in B – F

(4) Pp –  Pp back bond in BF3

47. Among the following substituted silanes the one
which will give rise to cross-linked silicone
polymer on hydrolysis is :-

(1)  R3SiCl (2) R4Si

(3) RSiCl3 (4) R2SiCl2

48. Inter layer distance in graphite is :-

(1) Very small, the layers being tightly packed

(2) Many times larger than the covalent radius of
carbon

(3) More than twice the covalent radius of carbon

(4) The same as the covalent radius of carbon

49. Phosphine, acetylene and ammonia can be formed
by treating H2O with :-

(1) Mg3P2, Al4C3, Li3N

(2) Ca3P2, CaC2, Mg2C3

(3) Ca3P2, CaC2, Mg3N2

(4) Ca3P2, Mg2C3, NH3NO3

50. Bleaching  action  of  SO2 is due to :-

(1) reduction (2) oxidation

(3) hydrolysis (4) acidic nature

51. PH3 can  be  formed  in  :-

(1) hydrolysis of calcium phosphide

(2) heating H3PO3

(3) reaction of P4 & NaOH in inert atmosphere

(4) All of the above

TOPIC : Chemical Kinetics, Equilibrium, Ionic equilibrium, Surface Chemistry : Adsorption, Some Basic
Concepts of Chemistry Thermodynamics, p-Block Elements, Group 13 elements, Group 14 elements, Group
15 elements, Group 16 elements, Group 17 elements, Group 18 elements, General Principles and Processes
of Isolation of Elements : Principles and methods of extraction, Redox Reactions, Hydrogen

46. BF3 dh nqcZy vEyh; çÏfr dk eq[; dkj.k gS :-

(1) F dh mPp fo|qr ½.krk

(2) BF3 esa 3C-2e– cUèk

(3) B – F cUèk esa Pp – dp i'p vkcUèku

(4) BF3 cUèk esa Pp – Pp i'p vkcUèku

47. fuEu esa ls fdl foLFkkfir flysu ds ty vi?kVu ij fr;Zd lafèk

flfydkWu nsrk gS :-

(1)  R3SiCl (2)  R4Si

(3) RSiCl3 (4)  R2SiCl2

48. xzsQkbV esa varjijrh; nwjh gS :-

(1) cgqr NksVh] ijr ,d&nwljs ds cgqr utnhd

(2) dkcZu dh lgla;kstd f=T;k ls dbZ xquk T;knk

(3) dkcZu dh lgla;kstd f=T;k ds nqxquk ls T;knk

(4) dkcZu dh lgla;kstd f=T;k ds cjkcjA

49. ______dh ty ds lkFk vfHkfØ;k djkus ij QkWLQhu]

,lhfVyhu rFkk veksfu;k curh gS :-

(1) Mg3P2, Al4C3, Li3N

(2) Ca3P2, CaC2, Mg2C3

(3) Ca3P2, CaC2, Mg3N2

(4) Ca3P2, Mg2C3, NH3NO3

50. SO2 dk fojatd xq.k _______ ds dkj.k gksrk gS :-

(1) vip;u (2) vkWDlhdj.k

(3) ty vi?kV~u (4) vEyh; xq.k

51. fuEu esa ls fdlls PH3 fufeZr gksrk gS :-

(1) dSfY'k;e QkWLQkbM ds ty vi?kVu esa

(2) H3PO3 dks xeZ djus esa

(3) vfØ; okrkoj.k esa P4 rFkk NaOH dh vfHkfØ;k esa

(4) mijksDr lHkh
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52. MF + XeF4 ® 'A' (M-alkali metal)

hybridisation of A & shape of A is :-

(1) sp3d, Triagonal bipyramidal

(2) sp3d3, Distorted octahedral

(3) sp3d3, Pentagonal planar

(4) sp3, Tetrahedral

53. Antichlor is a compound :-

(1) which absorbs chlorine

(2) which removes excess of Cl2 from a material

(3) which liberates Cl2 from bleaching powder

(4) which acts as a catalyst in the manufacture of
Cl2

54. Electrolytic refining is used to purify which of the
following metals :-

(1) Cu & Al (2)  Ge  & Si

(3) Zr & Ti (4)  Zn  & Hg

55. Which one is mismatched :-

(1) Poling – Refining of copper

(2) Cupellation – Refining of silver

(3) Smelting – An oxidation process

(4) Roasting – An oxidation process

56. Which physical constant for H2O has higher
magnitude than D2O :-

(1) Boiling point

(2) Temperature of maximum density

(3) Dielectric constant

(4) Bond dissociation energy.

57. H2S +  H2O2 ® S + 2H2O

This reaction shows :-

(1) Acidic nature of H2O2

(2) Basic  nature  of  H2O2

(3) Oxidising nature of H2O2

(4) Reducing nature of H2O2

58. How much amount of sulphur can be obtained by
the reaction of 1 mol of SO2 with  22.4  L  of  H2S
at  STP ?

(1)  96  g (2)  48  g

(3)  32  g (4) None of these

52. MF + XeF4 ® 'A' (M-{kkjh; /kkrq)
A dk ladj.k o vkÏfr gS :-

(1) sp3d, f=dks.kh; f}fijkfefM;
(2) sp3d3, foÏr v"VQydh;
(3) sp3d3, iapHkqth; leryh;

(4) sp3, prq"Qydh;
53. izfrDyksj ,d ;kSfxd gS:-

(1) tks fd Dyksjhu dh vo'kksf"kr djrk gS

(2) tks fd inkFkZ esa ls Cl2 ds vkf/kD; dks gVkrk gS

(3) tks fd fojatd pw.kZ esa ls Cl2 fu"dkflr djrk gS

(4) Cl2 ds fuekZ.k esa mRizsjd dh rjg dk;Z djrk gS

54. fuEufyf[kr esa  dkSulh /kkrq oS|qr 'kks/ku }kjk 'kqf¼Ïr dh tkrh
gS :-

(1) Cu & Al (2)  Ge  & Si

(3) Zr & Ti (4)  Zn  & Hg

55. lgh feyku ugha gS :-

(1) naM foyksMu – dkWij ds 'kqf¼dj.k esa
(2) [kiZj.k – flYoj ds 'kqf¼dj.k esa

(3) izxyu – vkWDlhdj.k fof/k
(4) HktZu – vkWDlhdj.k fof/k

56. dkSulk HkkSfrd fLFkjkad dk H2O ds fy, eku D2O ls vfèkd
gksrk gS :-

(1) DoFkukad

(2) vf/kdre ?kuRo dk rki

(3) ijkoS|qrkad

(4) ca/k fo;kstu ÅtkZ

57. H2S +  H2O2 ® S + 2H2O

;g vfHkfØ;k n'kkZrk gS :-
(1) H2O2 dk vEyh; O;ogkj
(2) H2O2 dh {kkjh; izÏfr
(3) H2O2 dh vkWDlhdkjd izÏfr
(4) H2O2 dh vipk;d izÏfr

58. STP ij 1 eksy SO2 dh 22.4 L H2S ds lkFk] vfHkfØ;k

}kjk lYQj dh fdruh ek=k izkIr gksxh\

(1)  96  g (2)  48  g

(3)  32  g (4) buesa ls dksbZ ugha
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59. When 2 L of CO2 is heated with graphite, volume
of gases collected is 3 L then what will be the
number of moles of CO produced at STP?

(1) 
1

22.4
(2) 

2
22.4

(3) 
3

22.4
(4) 

4
22.4

60. Volume of O2 required (at STP) for complete
combustion of one mole of propane will be :-

(1) 22.4 L (2) 67.2 L

(3) 112 L (4)  112 mL
61. 2 moles of A and 3 moles of B are mixed and the

reaction is carried at 400ºC according to the
equation A (g) +  B (g)  2C(g), the equlibrium
constant of the reaction is 4. Find the moles of
C at equlibrium :
(1) 1.2 mol (2) 8.5 mol
(3) 2.4 mol (4) 5.4 mol

62. At 87°C,  H2(g) + S(s) � H2S(g),  KC =  0.08.  If
0.3 mole of hydrogen and 2 mole of sulphur are
heated to 87°C in a 2L vessel, the concentration
of  H2S at equilibrium :-

(1) 0.011 M (2) 0.022 M

(3) 0.044 M (4) 0.08 M

63. Kc for A(g) + B(g) �  C(g) + D(g) is  10 at  25°C.  If
a container contains 1,2,3,4 mol/litre of A,B,C
and D respectively at 25°C, the reaction will
proceed:-
(1) From left to right (2) From right to left
(3) in Equilibrium (4) Either of these

64. Weak acid HX has the dissociation constant
1 × 10–5. It forms a salt NaX on reaction with
alkali .  The percentage hydrolysis of 0.1M
solution of NaX is :-

(1) 0.0001 (2) 0.01

(3) 0.1 (4) 0.15

65. The solubility product of AgCl in water at 25°C

is 1.6 × 10–10. Its solubility in the presence of

0.1M HCl is :-

(1) 1.26 × 10–5 (2) 2.52 × 10–7

(3) 1.6 × 10–9 (4) 1.6 × 10–8

59. 2 L CO2 dks xzsQkbV ds lkFk xeZ djus ij ,d= xSlksa  dk vk;ru
3L çkIr gk srk gS rk s STP ij mRiUu CO dh eksy dh
la[;k D;k gksxh &

(1) 
1

22.4
(2) 

2
22.4

(3) 
3

22.4
(4) 

4
22.4

60. ,d eksy izksisu ds iw.kZ ngu ds fy;s STP ij O
2
 ds fdrus vk;ru

dh vko';drk gksxh :-
(1) 22.4 L (2) 67.2 L

(3) 112 L (4)  112 mL

61. 2 eksy A rFkk 3 eksy B dks 400ºC ij fuEu vfHkfØ;kuqlkj
vfHkd`r fd;k x;k A ;fn vfHkfØ;k dk lkE; fLFkjkad 4 gS]
rks C ds lkE; ij eksy Kkr dhft;s &

A(g) + B(g)  2C(g)

(1) 1.2 eksy (2) 8.5 eksy

(3) 2.4 eksy (4) 5.4 eksy
62. 87°C ij H2(g) + S(s) � H2S(g),  KC = 0.08 ;fn

gkbMªkstu ds 0.3 eksy rFkk lYQj ds 2 eksy 87°C ij 2L ds
ik= esa xeZ fd, tk,¡ rks lkE;koLFkk ij H2S dh lkUærk
gS :-
(1) 0.011 M (2) 0.022 M

(3) 0.044 M (4) 0.08 M

63. 25°C ij vfHkfØ;k A(g) + B(g) �  C(g) + D(g) ds fy,

KC dk eku 10 gSA ;fn 25°C rki ij ,d ik= esa A,B,C rFkk

D ds Øe'k% 1, 2, 3, 4 mol/L mifLFkr gSa  rks vfHkfØ;k c<+ sxh\

(1) ck;ha ls nk;ha vksj (2) nk;ha ls ck;ha vksj

(3) lkE;koLFkk esa (4) buesa ls dksbZ Hkh

64. nqcZy vEy HX dk fo;kstu fLFkjkad 1 × 10–5 gSA {kkj ds lkFk

fØ;k djds ;g yo.k NaX cukrk gSA 0.1 M NaX foy;u

dk izfr'kr ty vi?kVu gS :-

(1) 0.0001 (2) 0.01

(3) 0.1 (4) 0.15

65. 25°C ij AgCl dk foys;rk xq.kuQy 1.6 × 10–10 gSA

0.1M HCl dh mifLFkfr esa bldh foys;rk gS :-

(1) 1.26 × 10–5 (2) 2.52 × 10–7

(3) 1.6 × 10–9 (4) 1.6 × 10–8
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66. The enthalpy of formation of ammonia is

–46 kJ mol–1. The enthalpy change for the reaction

2NH3(g) ¾® N2(g) + 3H2(g) is :-

(1) 46.0 kJ (2) 92.0 kJ

(3) –23.0 kJ (4) –92.0 kJ

67. 1 mole of H2SO4 is mixed with 2 moles of NaOH.

The heat evolved will be :-

(1) 57.3 kJ (2) 2 × 57.3 kJ

(3) 
57.3

kJ
2

(4) Can't be predicted

68. The enthalpy of formation of N2O and NO are 82

and 90 kJ/mol respectively then the enthalpy of

reaction, 2N2O(g) + O2(g) ¾® 4NO(g) will be :-

(1)  8 kJ (2) 88 kJ (3) –16 kJ (4) 196 kJ
69. What will be the melting point of benzene if

DHfusion = 9.95 kJ/mol and DSfusion = 35.7 J/K-mol-
(1) 278.7°C (2) 278.7 K
(3) 300 K (4) 298 K

70. Based on the following thermochemical equations
H2O(g) + C(s) ¾® CO(g) + H2(g); DH = 131 kJ

CO(g) + 1/2O2(g) ¾® CO2(g); DH = –282 kJ

H2(g) + 1/2O2(g) ¾® H2O(g); DH = –242 kJ

C(s)  +  O2(g) ¾® CO2(g); DH = X kJ

The value of X will be :-

(1) –393 kJ (2) –655 kJ

(3) +393 kJ (4) +655 kJ

71. The rate of reaction A(g) + 2B(g) ® 3C(g) becomes
72 times when concentration of A is tripled and
concentration of B is doubled then the order of
reaction with respect to A and B respectively is:-

(1) 1,  2 (2)  2,  3

(3)  3,  2 (4)  2,  2

72. A first order reaction is 10% completed in
20 minutes then what will be the time for 19%
completion of reaction ?
(1) 30 min (2) 40 min
(3) 50 min (4) 38 min

66. veksfu;k dh laHkou ,UFkSYih –46 kJ mol–1 gS rks

2NH3(g) ¾® N2(g) + 3H2(g) ds fy, ,UFkSYih esa ifjorZu
D;k gksxk  :-

(1) 46.0 kJ (2) 92.0 kJ

(3) –23.0 kJ (4) –92.0 kJ

67. tc 1 eksy H2SO4 dks 2 eksy NaOH ds lkFk feyk;k tkrk

gS rks fu"dkflr Å"ek gksxh :-

(1) 57.3 kJ (2) 2 × 57.3 kJ

(3) 
57.3

kJ
2

(4) ugha crk;k tk ldrk

68. N2O vkSj NO dh laHkou Å"ek,¡ Øe'k% 82 vkSj 90 kJ/eksy
gSa rks fuEufyf[kr vfHkfØ;k dh vfHkfØ;k Å"ek gksxh:-

2N2O(g) + O2(g) ¾® 4NO(g)

(1)  8 kJ (2) 88 kJ (3) –16 kJ (4) 196 kJ

69. csathu dk xyukad fcUnq D;k gksxk  ;fn DHfusion = 9.95
fdykstwy/eksy rFkk DSfusion = 35.7 twy/K-eksy
(1) 278.7°C (2) 278.7 K
(3) 300 K (4) 298 K

70. fuEu Å"ek jklk;fud lehdj.kksa ds vk/kkj ij
H2O(g) + C(s) ¾® CO(g) + H2(g); DH = 131 kJ

CO(g) + 1/2O2(g) ¾® CO2(g); DH = –282 kJ

H2(g) + 1/2O2(g) ¾® H2O(g); DH = –242 kJ

C(s)  +  O2(g) ¾® CO2(g); DH = X kJ

X dk eku gksxk :-

(1) –393 kJ (2) –655 kJ

(3) +393 kJ (4) +655 kJ

71. vfHkfØ;k A(g) + 2B(g) ® 3C(g) dk osx] A dh lkUnzrk dks

3 xquk rFkk B dh lkUnzrk dks 2 xquk djus ij] 72 xquk gks tkrk

gS rks A rFkk B ds lkis{k vfHkfØ;k dh dksfV Øe'k% gS :-

(1) 1,  2 (2)  2,  3

(3)  3,  2 (4)  2,  2

72. ,d izFke dksfV vfHkfØ;k 20 feuV esa 10% iw.kZ gks tkrh gS rks

vfHkfØ;k dh 19% iw.kZrk esa yxk le; D;k gksxk\

(1) 30 min (2) 40 min

(3) 50 min (4) 38 min
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73. The half life of a second order reaction is :-
(1) Proportional to init ial concentration of

reactants
(2) independent of initial concentration of reactants
(3) inversely proportional to initial concentration of

reactants.
(4) inversely proportional to square of initial

concentration of reactants.
74. The mechanism of reaction 2NO + Cl2 ® 2NOCl

is  given  as  :

(i) 1K
22NO (NO)��������  ...... (fast)

(ii) 2K
2 2(NO) Cl 2NOCl+ ¾¾® .... (slow)

The rate expression of reaction will be

(1) r  = K1K2 [(NO)2] [Cl2]

(2)  r  =  K1K2[NO]2 [Cl2]

(3) r  =  K1K2[Cl2]

(4)  r  =  K1K2[NO] [Cl2]

75. From the following which will have maximum
coagulating power for As2S3 sol.

(1) 0.1 N ZnSO4

(2) 0.1 N Na3PO4

(3) 0.1 N AlCl3

(4) 0.1 N Zn(NO3)2

76. Which of the following is an incorrect statement:-
(1) Alum is used to precipitate the impurities

present in water.
(2) Flocculation value is inversely proportional to

coagulation power.
(3) Colloidal silica is a protective colloid.
(4) Gelatin added in icecream acts as emulsifying

agent.
77. For the reaction, N2(g) + 3H2(g) ® 2NH3(g) under

certain condition of temperature and partial

pressure of the reactants, the rate of formation of

NH3 is  10–3 kg hr–1. The rate of conversion of H2

under same condition is :-

(1) 1.5 × 10–3 kg hr–1 (2) 1.76 × 10–4 kg hr–1

(3) 2 × 10–3 kg hr–1 (4) 3 × 10–3 kg hr–1

73. ,d f}rh; dksfV vfHkfØ;k dh v¼Z vk;q gS :-

(1) fØ;kdkjdksa dh izkjfEHkd lkUnzrk ds lekuqikrh

(2) fØ;kdkjdksa dh izkjfEHkd lkUnzrk ls Loar=

(3) fØ;kdkjdksa dh izkjfEHkd lkUnzrk ds O;qRØekuqikrh

(4) fØ;kdkjdksa  dh izkjfEHkd lkUnzrk ds oxZ ds O;qRØekuqikrh

74. vfHkfØ;k 2NO + Cl2 ® 2NOCl dh fØ;kfof/k fuEu izdkj

gS :

(i) 1K
22NO (NO)��������  ...... (rhoz)

(ii) 2K
2 2(NO) Cl 2NOCl+ ¾¾®  .... (/khek)

vfHkfØ;k dk osx O;atd gksxk -

(1) r  = K1K2 [(NO)2] [Cl2]

(2)  r  =  K1K2[NO]2 [Cl2]

(3) r  =  K1K2[Cl2]

(4)  r  =  K1K2[NO] [Cl2]

75. As2S3 lkWy ds fy, fuEu es a ls fdldh LdUnu  {kerk

vf/kdre gksxh %&
(1) 0.1 N ZnSO4

(2) 0.1 N Na3PO4

(3) 0.1 N AlCl3

(4) 0.1 N Zn(NO3)2

76. fuEu esa ls vlR; dFku gS :-

(1) fQVdjh ty esa mifLFkr v'kqf¼;ksa ds LdUnu esa iz;qDr

gksrh gSA

(2) Å.kZu eku] Ldanu {kerk ds O;qRØekuqikrh gksrk gSA

(3) dksykWbMh flfydk ,d j{kh dksykWbM gSA

(4) vkblØhe esa  feykbZ xbZ ftysfVu ik;lhdkjd ds leku dk;Z

djrh gSA
77. fuf'pr rki rFkk vkaf'kd nkc dh fLFkfr esa vfHkfØ;k

N2(g) + 3H2(g) ® 2NH3(g) ds fy, NH3 ds fuekZ.k dh

nj 10–3 kg hr–1 gS rks leku fLFkfr;ksa esa H2 ds ifjorZu dh

nj gksxh :-

(1) 1.5 × 10–3 kg hr–1 (2) 1.76 × 10–4 kg hr–1

(3) 2 × 10–3 kg hr–1 (4) 3 × 10–3 kg hr–1
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78. In an exothermic reaction X ® Y the activation
energy is 100 KJ mol–1 of X. The enthalpy of the
reaction is – 140 kJ mol–1. The activation energy
of the reverse reaction Y ® X  is  :-

(1) 40 (2) 100

(3) 140 (4) 240

79. The sum of the oxidation states of all the carbon
atoms present in the compound C6H5CHO is :

(1) – 4 (2)  3 (3)  +  5 (4) – 4/7

80. Which of the following will act as only oxidising
agent :-

(1) HNO2 (2) KMnO4

(3) H2O2 (4) SO2

81. Find equivalent weight of FeS2 in following
reaction :

FeS2 ® Fe+3 + SO3

(1)
M
11

(2) 
M
15

(3) 
M
5

(4) 
M
7

82. Work in reversible adiabatic process is :-

(1) W = nCv (T2 –  T1)

(2)  W = 
n

1g - (T2 –  T1)

(3) W = – 2.303 nRT log10

2

1

V
V

(4) W = – 2.303 nRlog10

1

2

P
P

83. What will be the solubility of AlCl3 in solution of
CaCl2 with concentration C :-

(1) SPK
2C

(2) SP
3

K
8C

(3) SPK
3C

(4) SP
2

K
4C

78. ,d Å"ek{ksih vfHkfØ;k X ® Y ds fy, X dh lfØ;.k ÅtkZ
100 KJ mol–1 g SA vfHkfØ;k d s fy,  ,UFk SYih
– 140 kJ mol–1 gSA i'p vfHkfØ;k Y ® X ds fy,
lfØ;.k ÅtkZ gS :-

(1) 40 (2) 100

(3) 140 (4) 240

79. ;kSfxd C6H5CHO esa mifLFkr lHkh dkcZu ijek.kqvksa ds
vkWDlhdj.k voLFkkvksa dk ;ksx gS %&

(1) – 4 (2)  +  3 (3)  +  5 (4) – 4/7

80. fuEu esa ls dkSu dsoy vk WDlhdkjd dh rjg O;ogkj
djsxk :-

(1) HNO2 (2) KMnO4

(3) H2O2 (4) SO2

81. fuEu vfHkfØ;k esa FeS2 dk rqY;kadh Hkkj gksxk :

FeS2 ® Fe+3 + SO3

(1)
M
11

(2) 
M
15

(3) 
M
5

(4) 
M
7

82. mRØe.kh; :¼ks"e izØe esa dk;Z gS :-
(1) W = nCv (T2 –  T1)

(2)  W = 
n

1g - (T2 –  T1)

(3) W = – 2.303 nRT log10

2

1

V
V

(4) W = – 2.303 nRlog10

1

2

P
P

83. C lkUnzrk ds CaCl2 foy;u esa AlCl3 dh foys;rk D;k
 gksxh :-

(1) SPK
2C

(2) SP
3

K
8C

(3) SPK
3C

(4) SP
2

K
4C
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84. Which of the following will not show common ion
effect on addition of HCl ?

(1) CH3COOH (2) H2S

(3) C6H5COOH (4)  H2SO4

85. Weakest base from the following is :-

(1) CH3COO1 (2) Br1

(3) OH1 (4) HCO3
1

86. What will be the pH change when 0.01 moles of

CH3COONa is added in 1 litre 0.02 M CH3COOH

solution ? Ka for  CH3COOH is 1.8 × 10–5

(1) 1.22 (2) 1.82

(3) 1.07 (4) 0.37

87. The number of oxalic acid molecules in 100 ml
of 0.02 N oxalic acid ?

(1) 10–3 (2) 2 × 10–3 N0

(3) 10–3 N0 (4) 2 N0

88. x g of metal on reaction with oxygen gives y g of
metal oxide. The equivalent mass of metal
is :-

(1) 
(y x)

8
-

(2) 
8x

(y x)-

(3) 
x

(y x)- (4) 
8y

(y x)-

89. Which one of the following is not applicable to
chemisorption?

(1) High magnitude of DH

(2) Occure at higher temperature

(3) It is reversible

(4) It forms mono layer

90. In  the  manufacture   of  H2SO4 by contact process
the presence of V2O5 acts as

(1) Catalytic promoter

(2) Induced catalyst

(3) Catalyst

(4) Auto catalyst

84. fuEu esa ls dkSu HCl feykus ij levk;u izHkko iznf'kZr ugha
djsxk ?

(1) CH3COOH (2) H2S

(3) C6H5COOH (4)  H2SO4

85. fuEu esa ls nqcZyre {kkj gS :-

(1) CH3COO1 (2) Br1

(3) OH1 (4) HCO3
1

86. 1 yhVj 0.02 M CH3COOH foy;u es a 0.01 ek sy

CH3COONa feykus ij pH esa ifjorZu D;k gk sxk  ?

CH3COOH ds fy, Ka = 1.8 × 10–5 gS

(1) 1.22 (2) 1.82

(3) 1.07 (4) 0.37

87. 100 ml 0.02 N vkWDlsfyd vEy foy;u esa  vkWDlsfyd vEy

ds fdrus v.kq mifLFkr gSa\

(1) 10–3 (2) 2 × 10–3 N0

(3) 10–3 N0 (4) 2 N0

88. x g /kkrq  dh vfHkfØ;k vk WDlhtu ds lkFk djkus ij
y g /kkrq vkWDlkbM ds curs gSaA  /kkrq dk rqY;kadh Hkkj D;k
gksxk :-

(1) 
(y x)

8
-

(2) 
8x

(y x)-

(3) 
x

(y x)- (4) 
8y

(y x)-

89. fuEu eas ls dkSu jklk;fud vf/k'kks"k.k ij ykxw ugh gksrk gSA

(1) DH dk mPp ifjek.k

(2) ;g mPp rki ij gksrk gS

(3) ;g mRØe.kh; gS

(4) ;g ,dy ijrh; gS

90. H2SO4 ds fuekZ.k dh lEidZ d{k fof/k esa V2O5 dk;Z djrk
gSA

(1) mRizsjd o/kZd

(2) izsfjr mRizsjd

(3) mRizsjd

(4) Lo mRizsjd
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91. Which one of the following cellular part is
incorrectly described ?
(1) Centrioles — duplicated during S-phase

and lie perpendicular to
each other in centrosome

(2) Nucleolus — sites for r-RNA synthesis
and non membranous
structure

(3) Stroma — contains enzyme required
for b-oxidation of fatty acid

(4) SER — part of endomembrane
system, helps in detoxification
of drugs

92. Based on the type of pigments plastids can be
classified into :-

(1) Amyloplast, elaioplast, and aleuroplasts

(2) Chlorophyll, carotenoid and xanthophyll

(3) Chloroplasts, chromoplasts and leucoplast

(4) Phytochrome, phycobilins and phycoerythrin
93. Segregation of mendelian factors (Aa) occurs during:-

(1) Diplotene (2) Anaphase-I

(3) Pachytene (4) Anaphase-II
94. A structure that connect the cytoplasm of

neighbouring cells and another which holds or glues

the different neighbouring cell together. These are :-

(1) Cell wall and middle lamella respectively

(2) Plasmodesmata and middle lamella respectively

(3) Middle lamella and desmosomes respectively

(4) Middle lamella and plasmodesmata respectively
95. The content of nucleolus is continuous with the

rest of the nucleoplasm as :-
(1) Nucleolus is not a membrane bound

structure
(2) Nucleolus is connected to the nucleoplasm

with the help of annulus
(3) Nucleolus synthesise m-RNA with the help of

chromatin present in the nucleoplasm
(4) Nucleolus cannot be easily distinguished from

nucleoplasm

91. fuEu esa ls dkSuls dksf'kdh; Hkkx dk xyr rjhds ls o.kZu fd;k
x;k gS ?
(1) rkjddsUæ — S-voLFkk ds nkSjku f}xqf.kr gksrs gSa]

vkSj rkjddk; esa ,d nwljs ds yEcor~
fLFkr gksrs gSaA

(2) dsfUædk — r-RNA la'ys"k.k gsrq LFky vkSj
f>Yyh jfgr lajpuk

(3) ihfBdk — blesas olh; vEyksa ds b-vkWDlhdj.k
ds ,Utkbe gksrs gSaA

(4) SER — var% f>Yyh ra= dk Hkkx tks Mªx ds
vkfo"khdj.k esa lgk;d gSA

92. o.kZdksa ds vk/kkj ij yod dk oxhZdj.k fdrus izdkj esa fd;k
x;k gS :-

(1) ,ekbyksIykLV] bfy;ksIykLV rFkk ,Y;wjksIykLV
(2) DyksjksfQy] dSjksVhukW;M rFkk tSUFkksfQy
(3) gfjryod] ØkseksIykLV rFkk Y;wdksIykLV
(4) QkbVksØkse] Qkbdksfcyhu rFkk QkbdksbjsFkzhu

93. es.Msfy;u dkjdksa (Aa) dk iF̀kDdj.k fdlesa gksrk gS :-
(1) fMIyksVhu (2) ,sukQst-I

(3) iSdsVhu (4) ,sukQst-II

94. lajpuk tks lehi fLFkr dksf'kdkvksa ds dksf'kdkæO; dks tksM+rh gS
rFkk nwljh lajpuk tks lehi fLFkr fofHkUu dksf'kdkvksa dks ,d lkFk
fLFkj djrh gS ;k fpidkus dk dk;Z djrh gS] ;s lajpuk,a gSa :-
(1) Øe'k% dksf'kdk fHkfÙk rFkk e/; iVfydk
(2) Øe'k% IykTeksMsLesVk rFkk e/; iVfydk
(3) Øe'k% e/; iVfydk rFkk MsLeksLkksEl
(4) Øe'k% e/; iVfydk rFkk IykTeksMsLesVk

95. dsfUædk dk æO;] dsUædæO; ls lrr~ lEidZ cuk;s j[krk gS
D;ksafd:-

(1) dsfUædk f>Yyh ls f?kjh lajpuk ugha gSA
(2) dsfUædk] dsUædæO; ls oy; @ ,U;wyl dh lgk;rk ls

lEifdZr jgrh gSA
(3) dsfUædk] dsUædæO; esa mifLFkr ØksesfVu dh lgk;rk ls

m-RNA dk la'ys"k.k djrh gSA
(4) dsfUædk dks dsUædæO; ls vklkuh ls  igpkuk ugha tk ldrk

gSA
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96. Which of the following is not correct for the
shortest phase of Karyokinesis in mitosis?
(1) Centromeres split and chromatids separate
(2) Daughter chromosomes move to opposite

poles
(3) Reformation of ER and Golgi apparatus
(4) Number of chromosomes become double

in cell
97. In anaphase-I, as compared to metaphase-I, cell

possessing-

(1) Same number of chromosomes and same

number of chromatids in each chromosome

(2) Half number of chromosomes and half number

of chromatids in each chromosome

(3) Half number of chromosomes and same

number of chromatids in each chromosome

(4) Half number of chromosomes and Double

number of chromatids in each chromosome
98. A nucleic acid contains thymine or methylated

uracil then it should be -

(1) DNA

(2) RNA

(3) Either DNA or RNA

(4)  RNA  of  bacteria

99. A Nitrogen base together with pentose sugar

and phosphte forms :-

(1) Nucleoside (2) Polypeptide

(3) Nucleotide (4) Amino acid

100. The molecule represented is ?

Uracil

H

OHOH

H

HOH C2 O

(1) Uridine and it is a pyrimidine
(2) Uridylic acid and it is a nucleoside
(3) Uridine and it is a nucleoside
(4) Uridylic acid and it is a nucleotide

96. lelw=h foHkktu esa dsUæd foHkktu dh lcls NksVh voLFkk ds

fy, fuEu esa dkSulk lgh ugha gS\

(1) xq.klw= fcUnq foHkkftr gksrk gS ,oa ØksesfVM i`Fkd gks

tkrs gSaA

(2) iq=h xq.klw=] foifjr /kqzoksa dh vksj xfr djrs gSaA

(3) ER ,oa xksYth midj.k dk iqu%fuekZ.kA

(4) dksf'kdk esa xq.klw=ksa dh la[;k dk nqxquk gks tkukA

97. ,ukQst-I voLFkk esa] esVkQst-I voLFkk dh rqyuk esa] dksf'kdk &

(1) xq.klw=ksa dh leku la[;k rFkk izR;sd xq.klw= esa ØksesfVM~l

dh leku la[;k gksrh gSA

(2) xq.klw=kas dh vk/kh la[;k rFkk izR;sd xq.klw= esa ØksesfVM~l

dh vk/kh la[;k gksrh gSA

(3) xq.klw=ksa dh vk/kh la[;k rFkk izR;sd xq.klw= esa ØksesfVM~l

dh leku la[;k gksrh gSA

(4) xq.klw=ksa dh vk/kh la[;k rFkk izR;sd xq.klw= esa ØksesfVM~l

dh nqxquh la[;k gksrh gSA

98. ;fn ,d U;wfDyd vEy esa Fkkbehu vFkok feFkkbysVsM ;wjsfly gS

rks og D;k gksxk &

(1) Mh ,u ,

(2)  vkj ,u ,

(3) ;k rks Mh ,u , vFkok vkj ,u ,

(4)  thok.kq dk RNA

99. ,d ukbVªkstu {kkjd isUVkst 'kdZjk ,oa QkWLQsV ds lkFk feydj

fdldk fuekZ.k djrs gSa &

(1) U;wfDyvkslkbM dk (2) ikWfyisIVkbM

(3) U;wfDyvksVkbM dk (4) vehuksa vEy dk

100. uhps n'kkZ;k x;k v.kq D;k gS ?

Uracil

H

OHOH

H

HOH C2 O

(1) ;wjhMhu gS] tks fd ,d ihfjfeMhu gSA

(2) ;wjhMkbfyd vEy gS] tks fd ,d U;wfDy;kslkbM gSA

(3) ;wjhMhu gS] tks fd ,d U;wfDy;kslkbM gSA

(4) ;wjhMkbfyd vEy gS] tks fd ,d U;wfDy;ksVkbM gSA
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101. vEy vfoys; Hkkx esa fuEu esa ls D;k vuqifLFkr gksrk gS%&

(1) izksVhu (2) fyfiM

(3) iksyhlSdsjkbM (4) eksukslSdsjkbM

102. lqØkst dh ,dyd bdkbZ;k¡ gksrh gaS %&
(1) a-Xywdkst + a-Xywdkst
(2) a-Xywdkst+ b-ÝDVkst
(3) b-xSysDVkst + b-Xywdkst
(4) a-ÝDVkst + b-ÝDVkst

103. fuEufyf[kr dk feyku dhft;s :-

rkfydk-I rkfydk-II

a ,YdsykWbM I fouCykfLVu] dqjdqfeu

b vko';d rsy II ekWfQZu] dksMhu

c fo"k III uhacw ?kkl rsy

d vkS"kf/k;ka (MªXl) IV ,fczu] fjlhu

(1) a-II, b-III, c-IV, d-I (2) a-III, b-II, c-IV, d-I

(3) a-II, b-III, c-I, d-IV(4) a-III, b-II, c-I, d-IV

104. ÅÙkd lao/kZu }kjk vfoHksfnr dksf'kdkvksa dk cuk gqvk fi.M
dgykrk gS%&

(1) dSyl (2) ,DlIykaV (3) Hkzw.k (4) uoksnfHkn
105. fdlh Qly esa mifLFkr leLr izdkj ds thu ds ,yhYl dk

laxzg.k dgykrk gS\

(1) laxzgky;

(2) Js"B iqu;kZsxt dk p;u

(3) ?kjsyw dj.k

(4) teZIykTe laxzg.k

106. ÅÙkd lao/kZu ds }kjk gtkjksa dh la[;k esa ikS/kksa dk mRiknu djuk

dgykrk gS%&

(1) lw{e izoZ/ku

(2) lksekDyksuy izo/kZu

(3) ekbØksbUtsD'ku

(4) tSoiq"Vhdj.k
107. ikniksa esa inkFkkZsa dk lapkyu mRrdksa ls gksus okyk lagfr pyu -

-------------------- dgykrk gS%&
(1) ok"iksRltZu (2) xeu

(3) ifjpØ.k (4) ifjlapkyu

101. Which of the following compound is absent in
acid insoluble pool :-
(1) Protein (2) Lipid
(3) Polysaccharide (4) Monosaccharide

102. Monosaccharide unit of sucrose is :-
(1) a-Glucose + a-Glucose
(2) a-Glucose + b-Fructose
(3) b-Galactose + b-Glucose
(4) a-Fructose + b-Fructose

103. Match the following :-

Column-I Column-II

a Alkaloid I Vinblastin, curcumin

b Essential oils II Morphine, Codeine

c Toxins III Lemon grass oil

d Drugs IV Abrin, Ricin

(1) a-II, b-III, c-IV, d-I (2) a-III, b-II, c-IV, d-I
(3) a-II, b-III, c-I, d-IV(4) a-III, b-II, c-I, d-IV

104. An undifferentiated mass of cell is obtained in

tissue culture called :-

(1) Callus (2) Explant (3) Embryo (4) Plantlet

105. The entire collection (of plants/seeds) having all

the diverse alleles for all genes in a given crop is

called:-

(1) Herbarium

(2) Selection of superior recombinant

(3) Domestication

(4) Germplasm collection
106. The method of producing thousand of plants

through tissue culture is known as :-

(1) Micropropagation

(2) Somaclonal propagation

(3) Microinjection

(4) Biofortification

107. The bulk movement of substances through the

conducting tissues of plant is called...........

(1) Transpiration (2) Locomotion

(3) Cyclosis (4) Translocation
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108. fuEu esa ls fdruh xsgw¡ dh fdLesa gS\

lksukfydk] iwlk Lof.kZe] fgefxjh] t;k] iwlk dksey]  IR-8

(1) rhu (2) ,d

(3) nks (4) ik¡p

109. ,sosjh, eSdfyvksM rFkk eSddkVhZ ds iz;ksx ls #ikUrj.k dkjd
Fkk :-
(1) RNA (2) DNA

(3) Protein (4) Carbohydrate

110. E.coli esa vuqys[ku bdkbZ gksrh gS :-
(1) Monocistronic (2) Polycistronic

(3) Monogenic (4) non-coding

111. fuEu esa ls dkSulk vksisjkWu dk Hkkx ugha gS?
(1) vkWijsVj (2) lajpukRed thu
(3) ,ugkUlj (4) izkseksVj

112. ySd vksisjku esa] ,syksySDVksl dk dk;Z gksrk gS :-

(1) laned (2) lg&laned

(3) dks& ,atkbe (4) izsjd

113. fuEu esa ls dkSulk RNA iksyhesjst ,Utkbe mRNA ds iwoZorhZ

:i (hnRNA) ds fuekZ.k dks mRizsfjr djrk gS :-

(1) DNA ykbxst (2) RNA iksyhesjst II

(3) RNA iksyhesjst I (4) DNA iksyhesjst II

114. DNA rFkk RNA ,d nwlj s ls fdl lanHk Z e s a  fHk Uu
gS&

(1) dsoy ukbVªkstu {kkjksa ds fy,

(2) dsoy 'kdZjk ds fy,

(3) ukbVªkstu {kkjksa ,oa QkLQsV ds fy,

(4) ukbVªkstu {kkjksa ,oa 'kdZjk ds fy,

115. DNA ds ,d [kaM esa ;fn nksuks DNA jTtqdks dk vuqys[ku

gks tk, rks blls cuus okys RNA :-

(1) lekukarj o iwjd gksxs

(2) lekukarj o leku gksxs

(3) izfr lekukarj o iwjd gksxs

(4) izfr lekukarj o leku gksxs

108. How many of the following is the variety of wheat?

Sonalika, Pusa Swarnim, Himgiri, Jaya, Pusa

Komal, IR-8

(1) Three (2) One (3) Two (4) Five

109. In Avery, MacLeod and McCarty experiment,

transforming agent was :-

(1) RNA (2) DNA

(3) Protein (4) Carbohydrate

110. Transcription unit in E.coli :-

(1) Monocistronic (2) Polycistronic

(3) Monogenic (4) non-coding

111. Which of the following is not a part of operon?

(1) An operator (2) Structural gene

(3) An enhancer (4) A promoter

112. In Lac operon, Allolactose act as :-

(1) repressor (2) co-repressor

(3) co-enzyme (4) Inducer

113. Which of the following RNA polymerase enzyme

catalyses the formation of precursor of

mRNA(hnRNA) :-

(1) DNA ligase (2) RNA Polymerase II

(3) RNA Polymerase I (4) DNA Polymerase II

114. DNA and RNA differ from each other with respect

to :-

(1) Nitrogen base only

(2) Sugar only

(3) Nitrogen bases and phosphate

(4) Nitrogen bases and sugars

115. If both strands in a given segment of DNA are

transcribed then the two RNA molecules formed

must be :-

(1) Parallel and complementary

(2) Parallel and identical

(3) Anti-parallel and complementary

(4) Anti-parallel and identical
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116. ,d m-RNA ds }kjk fuEukafdr vehuksa vEyksa ds Øe dk
dwVys[ku fd;k tkrk gS

Met Phe Phe Phe Phe Phe

nh x;h lwpuk ds vk/kkj ij m-RNA esa U;wfDy;ksVkbM dk Øe
crkb,s :-
(1) AUG. UUU. UUU. UUC. UUU. UUU
(2) AUG. UUU. UUU. UUU. UUC. UUG
(3) AUG. GUG. UUU. UUA. UUU. UUU
(4) GUG. UUU. UUC. UUA. UUG. UUU

117. ,d Mh,u, ds v.kq esa 20,000 {kkj ;qXe gaS rks  blesa  fdrus
U;wfDy;ksVkbM~l blesa mifLFkr gksaxs ?

(1) 2000 (2) 10,000 (3) 40,000 (4) 20,000

118. fuEu esa ls dkSulh fo'ks"krk Mh,u, esa nks ikWyhU;wfDy;ksVkbM

Ük`a[kykvksa ds chp dh nwjh dks ges'kk yxHkx leku cuk, j[krh

gS :-

(1) ,d I;wjhu ds lkeus ges'kk ,d fijhfeMhu vkrk gS

(2) ,d I;wjhu ds lkeus ges'kk ,d I;wjhu vkrk gS

(3) ,d ifjehMhu ds lkeus ges'kk ,d fijhehMhu vkrk gS

(4) isUVkst 'kdZjk dh mifLFkfr

119. isUVkst 'kdZjk ds igys dkcZu ds lkFk feFkkbysVsM ;wjsfly dkSulh

fLFkfr ds ukbVªkstu }kjk tqM+rk gS ?

(1) 1st (2) 5th (3) 9th (4) 7th

120. fuEu esa ls dkSulk DNA v.kq fuEure rkieku ij nks iF̀kd LVªsUM
esa foHkDr gksxk \
(1)  5'  –  A A T G C T G C–3'

3'  –  T T A C G A C G–5'
(2) 5'  –  A A T A A G T C–3'

3'  –  T T A T T C A G–5'
(3)  5'  –  G T C T A C A A–3'

3'  –  C A G A T G T T–5'
(4)  5'  –  A G C T T C C A–3'

3'  –  T C G A A G G T–5'

121. ,dy ladj ladj.k }kjk fuEu esa ls dkSu&lk fl¼kar Li"V ugha

fd;k tk ldrk ?

(1) dkjdksa dk i`FFkdj.k
(2) izHkkfork

(3) Lora= viO;wgu
(4) dkjdksa dk tksM+k

116. A m-RNA coded following sequence of amino
acid

Met Phe Phe Phe Phe Phe

Then find out nucleotide sequence of mRNA :-

(1) AUG. UUU. UUU. UUC. UUU. UUU

(2) AUG. UUU. UUU. UUU. UUC. UUG

(3) AUG. GUG. UUU. UUA. UUU. UUU

(4) GUG. UUU. UUC. UUA. UUG. UUU
117. A DNA molecule contain 20,000 base pairs. How

many nucleotides would be present in it?

(1) 2000 (2) 10,000 (3) 40,000 (4) 20,000

118. Which of the following feature generates
approximately uniform distance between the two
strand of DNA :-
(1) One purine always comes opposite to a

pyrimidine
(2) One purine always comes opposite to a purine
(3) One pyrimidine always comes opposite to a

pyrimidine
(4) Presence of pentose sugar

119. Methylated uracil attached with first carbon of
pentose sugar with the help of which position of
nitrogen?
(1) 1st (2) 5th (3) 9th (4) 7th

120. Which of the DNA molecule will separated into
two strand at lowest temperature ?
(1)  5'  –  A A T G C T G C–3'

3'  –  T T A C G A C G–5'
(2) 5'  –  A A T A A G T C–3'

3'  –  T T A T T C A G–5'
(3)  5'  –  G T C T A C A A–3'

3'  –  C A G A T G T T–5'
(4)  5'  –  A G C T T C C A–3'

3'  –  T C G A A G G T–5'
121. By a monohybrid cross, which of the following

phenomenon can't be explained ?

(1) Segregation of factors

(2) Dominance

(3) Independent assortment

(4) Pairing of factors
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122. How many characters choosed by Mendel related

to  seeds  ?

(1) 1 (2)  2 (3)  3 (4)  4

123. Alleles are :-

(1) True breeding homozygotes

(2) Different molecular forms of a gene

(3) Heterozygotes

(4) Different phenotype

124. When a heterozygous tall pea plant of F1 generation

upon self fertilization produces tall and dwarf

phenotypes it proves the principle of :-

(1) Dominance

(2) Segregation

(3) Independant assortement

(4) Codominsnce

125. In a dihybrid heterozygous plant, How many  types

and in what ratio the gametes are produced ?

(1) 4 types in the ratio of  9:3:3:1

(2) 2 types in the ratio of  3:1

(3) 3 types in the ratio of  1:2:1

(4) 4 types in the ratio of  1:1:1:1

126. If the frequency of an autosomal dominant allele

is 0.6, Calculate the frequency of recessive

phenotype in a population of 10000.

(1) 1600 (2) 4000

(3) 1200 (4) 1000

127. Symbol used in pedigree analysis for unspecified

sex is:-

(1) (2) 

(3) 5 (4) 

122. fdrus y{k.k esaMy }kjk p;fur fd, x, tks fd chtksa ls

lacaf/kr gSa ?

(1) 1 (2)  2 (3)  3 (4)  4

123. ,yhy gksrs gSa :-

(1) ;FkkFkZ iztuudkjh le;qXet

(2) thu ds fofHkUu vkf.od :i

(3) fo"ke;qXet

(4) fofHkUu y{k.k izk:i

124. ,d F1 ih<h dk fo"ke;qXeth yEcs eVj dk ikni Lofu"kspu ij

yEcs vkSj ckSus y{k.k iz:i mRiUu djrk gS rks ;g fl¼ djrk gS %&

(1) izHkkfork

(2) i`FkDdj.k

(3) Lora= viO;wgu

(4) lg izHkkfork

125. ,d f}ladj fo"ke;qXet ikS/kksa esa fdrus izdkj ds ,oa fdl vuqikr

esa ; qXed mRikfnr fd, tk,axs \

(1) 4 izdkj ds ] 9 : 3 : 3 : 1

(2) 2 izdkj ds ] 3 : 1

(3) 3 izdkj ds]   1 : 2 : 1

(4) 4 izdkj ds ] 1 : 1 : 1 : 1

126. ;fn vksVkslksey izHkkoh thu dh vko`fÙk 0.6 gS rks tula[;k esa

vizHkkoh y{k.k izk:i dh vkòfÙk D;k gksxh ;fn tula[;k 10000

gS rks :-

(1) 1600 (2) 4000

(3) 1200 (4) 1000

127. vKkr fyax ds fy, oa'kkoyh fo'ys"k.k esa mi;ksx fd;k tkus okyk

fpUg gSa:-

(1) (2) 

(3) 5 (4) 
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128. Henking observed that in few insects, 50% of the

sperm received a specific nuclear structure,

whereas the other 50% sperm did not receive it.

Henking gave a name to this structure as :-

(1) Y-body (2) X–body

(3) Barr Body (4) W–Chromosome

129.  
A B

C

Choose the correct answer for given diagram-

(1) A-has negative charge

(2) B-is a Linker DNA

(3) C-formed by five types of histone protein

(4) A-is a sealing protein

130. How many barr bodies will be found in a woman

having down syndrom ?

(1)  0 (2)  1

(3)  2 (4)  3

131. At a particular locus, frequency of 'A' allele is 0·6

and that of 'a' is 0·4. What would be the frequency

of heterozygotes in a random mating population

at equilibrium –

(1) 0·24 (2) 0·16

(3) 0·48 (4) 0·36

132. There are three genes a, b and c. The present on

chromosome percentage of crossing over between

a and b is 20%,  b and c is 28% and a and c is

8%. What is the sequence of genes on chromosome

(1)  b,  a,  c (2)  a,  b,  c

(3)  a,  c,  b (4)  b,  c,  a

128. Henking us ns[kk fd dqN dhVksa esa muds 50% 'kqØk.kqvksa ,d
fof'k"V dsUædh; lajpuk izkIr djrs gSa] tcfd vU; 50%

'kqØk.kqvksa ;g lajpuk izkIr ugha gksrh gSS  Henking us bl lajpuk
dks D;k uke fn;k :-

(1) Y-dk; (2) X–(dk;)

(3) Barr Body (4) W–xq.klw=

129.
A B

C

fn, x, fp= ds fy, lgh fodYi dk p;u djsaA
(1) A- ij ½.kkRed vkos'k gksrk gSA
(2) B-,d Linker DNA gSA
(3) C-ik¡p izdkj dh fgLVksu izksVhu ls feydj curh gSA
(4) A-,d sealing izksVhu gSA

130. ,d Mkmu fl.M ªk se okyh efgyk es a  fdruh ckj ckWMh
gk s axh ?

(1)  0 (2)  1

(3)  2 (4)  3

131. fdlh ,d fof'k"V foLFky ij  'A' fodYih dh vko`fÙk
0·6 gS rFkk 'a' fodYih 0·4 gSA fdlh ;kn`fPNd laxeu
djrh lekf"V esa larqyu ij fo"ke;qXetksa dh vkòfÙk D;k gksxh&

(1) 0·24  (2) 0·16

(3) 0·48  (4) 0·36

132. rhu thUl a, b, o c xq.klw= ij mifLFkfr gSaA a rFkk b

ds e/; ØkWflax vkWoj dh izfr'krrk 20%, b rFkk c ds
e/; 28% rFkk a o c ds eè; 8% gS] rks bu rhuks a thUl
dh xq.klw= ij O;oLFkk D;k gksxh%&

(1)  b,  a,  c (2)  a,  b,  c

(3)  a,  c,  b (4)  b,  c,  a
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133. fn, x;s fp= dk v/;;u dhft, rFkk Kkr dhft, :

'osr us= thu dh thu rFkk NksVs vkdkj ds ia[kksa dh (y?kqrj)
thu ds chp  dh nwjh D;k gS ?
(1) 37.2 cM (2) 62.8 cM

(3) 1.3 cM (4) 98.7 cM

134. ,d ikS/k ftldk thu izk:i AaBBTt gS rFkk lHkh rhuksa thu
iw.k Zr;k lgyXu gSa] rc ;g fdl vuqikr esa  ijkxd.k
cuk,xk :-

(1) 1 : 1

(2)  1 :  1  :  1  :  1

(3) 3 : 1

(4)  1 :  1  :  1  :  1  :  1  :  1  :  1  :  1

135. dkSu lk lgh lqesfyr ugha gS ?

(1)  – vizHkkfor uj

(2)  – nwljk fookg

(3)  – izHkkfor eknk

(4)  – vKkr fyax

133. Study the given figure and find out :

y+ w+y w

y w
Yellow, white Wild type

w+ m+w m

w m
White, miniature Wild type

Cross A Cross B

y wy w

y+ w+

Yellow, whiteWild type

w mw m

w+ m+

White, miniatureWild type

y+ wy+ w+

whiteWild type

y w+y w

yellowYellow, white

w+ mw+ m+

miniatureWild type

w m+w m

whiteWhite, miniature

Parental
type(98.7%)

Recombinant
types(1.3%)

Parental
type(62.8%)

Recombinant
types(37.2%)

y+ wy+ w+

whiteWild type

yellowYellow, white

y w y w

y w+y w

y w y w

w+ mw+ m+

miniatureWild type

whiteWhite miniature

w m w m

w m+w m

w m w m

F generation1

F generation2

Parental

Gametes

What will the distance between gene of white eye

and miniature wing ?

(1) 37.2 cM (2) 62.8 cM

(3) 1.3 cM (4) 98.7 cM

134. A plant having genotype AaBBTt and all three

genes are completely linked then it will produce

pollen grains in ratio :-

(1) 1 : 1

(2)  1 :  1  :  1  :  1

(3) 3 : 1

(4)  1 :  1  :  1  :  1  :  1  :  1  :  1  :  1

135. Which is incorrectly matched ?

(1)  – Unaffected male

(2)  – Second marriage

(3)  – Affected female

(4)  – Sex unspecified
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136. csflyl FkqfjfUt,afll  ls izkIr CryIAb ,aMksVkWfDlu fdlds
izfr dkjxj gksrs gSa \
(1) uheSVksM (2) dikl ds eqdqy d`fe
(3) ePNj (4) eDdk Nsnd

137. vktdy lkekU;r;k lansgkRed ,M~l jksfx;ksa esa ,p-vkbZ-oh- dh
igpku gsrq dkSulh rduhdh dk mi;ksx gksrk gS \

(1) ihlhvkj (2) ,ykbtk

(3) vkj ,Q ,y ih (4) osLVZu CyksfVax

138. dkSulk fodYi lR; gS\
(1) Introns mRNA es a mifLFkr gksrs gSa tcfd exons

tRNA esa
(2) Codons mRNA esa mifLFkr gksrs gSa tcfd anticodons

tRNA esa
(3) izR; sd Intron es a  rhuk s i zfrc a/ku codons gk sr s

gSaA
(4) Exons eukaryotes esa mifLFkr gksrs gSaA ysfdu Introns

prokaryotes esa mifLFkr gksrs gSaA
139. LrEHk I esa fn;s x;s 'kCnksa dks LrEHk II esa muds o.kZu ls lqesfyr

dhft, ,oa lR; fodYi pqfu;s :

      

LrEHk I LrEHk II

(a) lgizHkkfork (i)
vusd thu ,dy y{k.k

dk fu;a=.k djrs gSA

(b) cgqizHkkfork (ii)
dbZ ,yhy ,dy y{k.k

dk fu;a=.k djrs gSA

(c) cgq;qXefodYih (iii)
fo"ke;qXetrk dh

voLFkk esa nksuks ,yhyksa
dh iw.kZ vfHkO;fDr

(d) cgqthuh oa'kkxfr (iv)
,dy thu vusd y{k.kks
dks izHkkfor djrk gSA

dksM :-

a b c d

(1) (iii) (iv) (ii) (i)

(2) (iii) (ii) (i) (iv)

(3) (ii) (i) (iii) (iv)

(4) (ii) (iv) (i) (iii)

136. CryIAb endotoxins obtained from Bacillus
thuringiensis are effective against :-
(1) Nematodes (2) Cotton Bollworms
(3) Mosquitoes (4) Corn borer

137. Which technique is now routinely used to detect
HIV in suspected AIDS patients.

(1) PCR (2) ELISA

(3) RFLP (4) Western blotting

138. Which option is correct ?

(1) Introns are present  in  mRNA while  exons are
present in tRNA.

(2) Codons are present in mRNA while anticodons
are present in tRNA.

(3) Every intron is a set of three terminator codons

(4) Exons are present in eukaryotes but introns are
present in prokaryotes.

139. Match the terms given in Column I with their
description in Column II and select the correct
option :

      

Column I Column II

(a) Co-dominance (i) Many genes govern a
single character

(b) Pleiotropy (ii) Many alleles control a
single character

(c) Multiple
allelism (iii)

Full expression of both
alleles in heterozygous
condition

(d) Polygenic
inheritance (iv) A single gene influence

many charactens

Code :-

a b c d

(1) (iii) (iv) (ii) (i)

(2) (iii) (ii) (i) (iv)

(3) (ii) (i) (iii) (iv)

(4) (ii) (iv) (i) (iii)
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140. vkuqokaf'kdrk :ikaÙkfjr ikS/kksa dk mi;ksx dbZ izdkj ls ykHknk;d
gS flok; ,d dks NksM+dj :-
(1) [kk| inkFkksZ ds iks"kf.kd Lrj esa o`f¼
(2) ikS/kksa }kjk [kfut mi;ksx {kerk esa
(3) vtSo izfrcyksa ds izfr vf/kd lfg".kq  Qlyksa dk fuekZ.k
(4) jksx xzflr ikniksa ls LoLFk ikniksa esa iquykZHk

141. cktkj esa Hkstus ls igys] vfHkO;Dr izksVhu ds izFkDdj.k vkSj
'kq¼hdj.k dh izfØ;k dks D;k dgk tkrk gS\
(1) tSo izØe.k
(2) tSo iqf"Vdj.k
(3) vuqizokg izØe.k
(4) izfrizokg izØe.k

142. fuEu esas ls lgh esy gS%&
(1) balqyhu - SCID chekjh
(2) ADA thu - e/kqesg
(3) a-1 ,aVhfVªIlhu -dSalj
(4) lqugjk pkoy - foVkfeu - A

143. :ikarj.k gsrq] DN A ls ysfir lw{e d.k] ftudks ^^thu xu**

ls nkxk tkrk gks] fdlds cus gksrs gSa \

(1) flfydkWu vFkok IysfVue(2) Lo.kZ vFkok VaxLVu

(3) jtr vFkok IysfVue (4) IysfVue vFkok ftad

144. fn;k x;k fp= fdldks iznf'kZr dj jgk gS&

S S

S S

SS
A peptide 
(21 Amino acid)

B peptide 
(30 Amino acid)

(1) izkd~balqfyu (2) ifjiDo balqfyu¥

(3) fØ;k'khy balqfyu (4) 2 vkSj 3 nksuksa
145. dkWye I dk dkWye II ds lkFk lgh feyku dhft,&

 

 dkWye-I  dkWye-II 
(A) a–1 ,aVhfVªIlhu (i) vkf.od funku 
(B) jksth xk; (ii) pqgs 
(C) iksfy;ks Vhdk (iii) vYQk&ysDV,Ycqfeu 
(D) P.C.R  (iv) baQklhek 
 (1) A-(iv), B-(iii) ; C-(ii), D-(i)

(2) A-(i), B-(ii) ; C-(iii), D-(iv)
(3) A-(ii), B-(iv) ; C-(i), D-(iii)
(4) A-(iv), B-(ii) ; C-(iii), D-(i)

140. Genetically modified plants have been useful in

many ways EXCEPT :-

(1) Enhanced nutritional value of food

(2) Increased efficiency of mineral usage by plants

(3) Made crops more tolerant to abiotics

(4) Recovery of healthy plants from diseased plants

141. The process of separation and purification of

expressed protein before marketing is called:-
(1) Bioprocessing
(2) Biofortification
(3) Downstream processing
(4) Upstream processing

142. Which of the following is correct match ?

(1) Insulin - SCID disease

(2) ADA gene - Diabetes

(3) a-1 antitrypsin -Cancer

(4) Golden Rice - Vitamin - A

143. For transformation, micro-particles coated with
DNA to be bombarded with gene gun are made
up of :-
(1) Silicon or Platinum (2) Gold or Tungsten
(3) Silver or platinum (4) Platinum or zinc

144. The following diagram represents :-

S S

S S

SS
A peptide 
(21 Amino acid)

B peptide 
(30 Amino acid)

(1) Proinsulin (2) Mature insulin

(3) Functional insulin (4) Both 2 and 3

145. Match the column I with column II :-

 Column-I  Column-II 
(A) a–1 antitrypsin (i) Molecular diagnosis 
(B) Rosie cow (ii) Mice 
(C) Polio vaccine (iii) Alpha lactalbumin 
(D) P.C.R  (iv) Emphysema 
 (1) A-(iv), B-(iii) ; C-(ii), D-(i)

(2) A-(i), B-(ii) ; C-(iii), D-(iv)

(3) A-(ii), B-(iv) ; C-(i), D-(iii)

(4) A-(iv), B-(ii) ; C-(iii), D-(i)
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146. fuEu esa ls dkSulk ikS/kksa esa QkWLQksjl ds vo'kks"k.k esa lgk;d

gksrk gS ?

(1) ,ukchuk (2) Xyksel

(3) jkbtksfc;e (4) Ýsafd;k

147. fuEufyf[kr pkj dFkuksa (a-d) ij fopkj dhft, vkSj dsoy lHkh

lgh dFkuksa okyk ,d fodYi pqfu,%

(a) ,d dksf'kdh; Likb#ykbuk izksVhu] [kfutksa] foVkfeuksa

     vkfn ls Hkjiwj Hkkstu dk cM+h ek=k esa mRiknu dj ldrk gSA

(b) nsg&Hkkj dh  n`f "V l s lw{etho feFk kbyk s fQyl

ehFkkbyksVªksQl izfrfnu mlls dbZ xquk T;knk izksVhu cuk

ldrk gS ftruk xk;sa cuk ikrh gSaA
(c) lkekU; cVu e'k:e ([kwfe;k¡) foVkfeu C dk ,d

cgqr vPNk L=ksr gSaA
(d)  ,d , slh pkoy fdLe fodflr dh x;h gS ftlesa

dSfYl;e cgqr gksrk gSA
fodYi %
(1) dFku (b) , (c) vkSj (d)

(2) dFku (a) , (b)

(3) dFku (c) , (d)

(4) dFku (a) , (c) and (d)

148. ckW;ksxSl esa gksrk gS

(1) dkcZu eksuksvkWDlkbM] ehFksu rFkk gkbMªkstu

(2) dkcZu MkbZvkWDlkbM] ehFksu rFkk gkbMªkstu

(3) dkcZu eksuksvkWDlkbM] bZFksu rFkk gkbMªkstu

(4) dkcZu MkbZvkWDlkbM] bZFksu rFkk gkbMªkstu

149. uhps nh x;h rkfydk esa xyr feyk;h x;h enksa dks pqfu, ?

  

lw{etho mRikn vuqiz;ksx

(1) VªkbZdksMekZ
iksyhLiksje

lkbDyksLiksfju A izfrj{kk laned
vkS"kf/k

(2) eksuSLdl
ijI;wjh;l

LVsfVaal :f/kj&dksysLVªWky
dks de djuk

(3) LVªsIVksdWkdl LVªIVksdbuSt :f/kj okfgdk ls
FkDds dks gVkuk

(4) DykLVªhfM;e
C;wVk;fydl

ykbist rsy ds /kCcksa dks
gVkuk

146. Which one of the following helps  the plant in

absorption of phosphorus from soil ?

(1) Anabaena (2) Glomus

(3) Rhizobium (4) Frankia

147. Consider the following four statements (a-d) and
select the option which includes all the correct
ones only.
(a) Single cell Spirulina can produce large

quantities of food rich in protein, minerals,
vitamins etc.

(b) Body weight-wise the microorganism
Methylophilus methylotrophus may be able
to produce several times more proteins than
the cows per day.

(c) Common button mushrooms are a very rich
source of vitamin C.

(d) A rice variety has been developed which is
very rich in calcium.

Options :
(1) Statements (b) , (c) and (d)
(2)  Statements  (a)  ,  (b)
(3)  Statements  (c)  ,  (d)
(4)  Statements  (a)  ,  (c)  and  (d)

148. Biogas consists of

(1) Carbon monooxide, methane and hydrogen

(2) Carbon dioxide, methane and hydrogen

(3) Carbon monooxide, ethane and hydrogen

(4) Carbon dioxide, ethane and hydrogen

149. Which of the following is wrongly matched in the
given table ?

Microbe Product Application

(1) Trichoderma
polysporum

Cyclosporin A immunosup-
pressive drug

(2) Monascus
purpureus

Statins lowering of
blood
cholesterol

(3) Streptococcus Streptokinase removal of
clot from
blood vessel

(4) Clostridium
butylicum

Lipase removal of
oil stains
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150. Large holes in swiss cheese are due to production
of a large amount of CO2 by  a  bacterium is  :
(1) Lactobacillus lactis
(2) Clostridium butylicum
(3) Propionibacterium sharmanii
(4) Mycobacterium laprae

151. Which of the following statements is not correct?
(1) Most accepted mechanism for water

movement up a plant is cohesion-tension-
transpiration pull model

(2) Root pressure play a major role in upward
movement of water in tall trees because it provide
a strong push in the overall process of water transport

(3) The flow of water upward through the xylem
in plants achieve fairly high rate upto 15
metres per hour

(4) Effect of root pressure can be observed during
the process of exudation and guttation

152. Xylem is associated with translocation of which
of the following substances ?
(i) Water
(ii) Hormones
(iii) Sucrose
(iv) Mineral salts
(v) Organic nitrogen
Choose the correct option :-
(1) (i), (ii) and (iii) (2) (i), (iv) and (v)
(3) (i), (ii), (iv) and (v) (4) (ii), (iii) and (iv)

153. Which of the following elements are mainly
responsible for anion -cation balance in cells?

(1) Sulphur and Iron

(2) Phosphorus and Potassium

(3) Chlorine and Manganese

(4) Chlorine and Potassium

154. Which of the following processes is not related to

the pathway of respiration which occurs in both

aerobic and anaerobic respiration ?

(1) Dehydrogenation of triose phosphate

(2) Substrate level phosphorylation

(3) Reduction of coenzyme NAD+

(4) Release of Carbondioxide

150. fLol pht esa ik;s tkus okys cMs+&cM+s fNnz ,d thok.kq }kjk mRiUu
CO2 ds dkj.k gksrs gSa ;g thok.kq gSa %&
(1) ysDVkscsflyl ysfDVl
(2) DyksLVªhfM;e C;wfVfyde
(3) izksfivksuh csfDVfj;e 'kkjekuh
(4) ekbdkscsfDVfj;e ysizh

151. fuEu dFkuksa esa ls dkSulk lgh ugha gS ?
(1) fdlh ikni esa ty ds Åij dh vksj xeu dh lokZfèkd

Lohd`r fØ;kfof/k llatu& ruko&ok"iksRltZu f[kapko
ekWMy gSA

(2) Å¡ps ò{kksa esa Åij dh vksj ty dh xfr esa ewynkc eq[;
Hkwfedk fuHkkrk gS D;ksafd ;g ty ifjogu dh dqy fØ;k
esa ,d izcy nkc iznku djrk gSA

(3) ikniksa esa tkbye ds ek/;e ls ty dk Åij dh vksj cgko]
i;kZIr mPp nj yxHkx 15 ehVj izfr ?kaVs rd izkIr dj ldrk
gSA

(4) ewynkc ds izHkko dks jlL=ko ,oa fcUnq L=ko dh izfØ;k
ds nkSjku ns[kk tk ldrk gSA

152. tkbye fuEu inkFkksaZ esa ls fdlds LFkkukUrj.k ls lEcfUèkr gS ?
(i) ty
(ii) gkeksZUl
(iii) lqØkst
(iv) [kfut yo.k
(v) dkcZfud ukbVªkstu
lgh fodYi pqfu, :-

(1) (i), (ii) rFkk (iii) (2) (i), (iv) rFkk (v)

(3) (i), (ii), (iv) rFkk (v) (4) (ii), (iii) rFkk (iv)
153. fuEu esa ls dkSuls rRo dksf'kdkvksa esa ½.kk;u&/kuk;u larqyu

ds fy, eq[;r;k mÙkjnk;h gSa ?
(1) lYQj ,oa vk;ju

(2) QWkLQksjl ,oa iksVsf'k;e

(3) Dyksjhu ,oa eSaxuht

(4) Dyksjhu ,oa iksVsf'k;e

154. fuEu esa ls dkSulh izfØ;k 'olu ds ml iFk ls lEcfU/kr ugha

gS tks fd ok;oh; ,oa vok;oh; 'olu nksuksa esa ik;k tkrk gS ?

(1) Vªk;kst QkWLQsV dk fogkbMªkstuhdj.k

(2) fØ;k/kkj Lrj QkWLQksfjyhdj.k

(3) lg,atkbe NAD+ dk vip;u

(4) dkcZuMkbvkWDlkbM dh foeqfDr
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155. Which of the following is/are essential requirement (s)
for biological nitrogen fixation by cyanobacteria?
(a) Nitrogenase enzyme
(b) Strong reducing agent
(c) Energy in the form of ATP
(d) Root nodules
(e) Leghaemoglobin
Choose the correct option from the following:-
(1)  Only  (a)          (2)  (a),  (b)  and  (c)
(3) (a) and (c)      (4) (a), (b), (c), (d) and (e)

156. The respiratory quotient depends upon the :-
(1) Type of respiratory substrate used during

respiration
(2) Amount of respiratory substrate used during

respiration
(3) Duration of respiration
(4) Type of coenzymes used during respiration

157. Which causes fruits like apple to elongate &
improve its shape?
(1) Ethylene (2) Gibberellins
(3) Auxin (4) ABA

158. Which of following is used to speed up the malting
process?
(1) Auxin (2) GA3 (3) Kinetin (4) ABA

159.

(a) (b)

(c) (d)

Out of four given curves which of the following
shows effect of substrate concentration on
progression of enzyme catalysed reaction :-
(1) (d) (2) (b)
(3) (c) (4) (a)

155. lk;ukscSDVhfj;k }kjk tSfod ukbVªkstu fLFkjhdj.k ds fy, fuEu
esa ls dkSulh vfuok;Z vko';drk(,¡) gS@gSa ?
(a) ukbVªksftust ,atkbe
(b) izcy vipk;d inkFkZ
(c) ,Vhih ds :i esa ÅtkZ
(d) ewy xzafFkdk,¡
(e) ysxgheksXyksfcu
fuEu esa ls lgh fodYi pqfu, :-
(1) dsoy (a) (2) (a), (b) ,oa (c)
(3) (a) ,oa (c) (4) (a), (b), (c), (d) ,oa (e)

156. 'olu xq.kkad@ lk¡l xq.kkad fuHkZj djrk gS :-
(1) 'olu ds nkSjku mi;ksx esa vkus okys 'oluh fØ;kèkkj ds

izdkj ijA
(2) 'olu ds nkSjku mi;ksx esa vkus okys 'oluh fØ;kèkkj dh

ek=k ijA
(3) 'olu dh vof/k ijA
(4) 'olu ds nkSjku mi;ksx esa vkus okys dks,atkbEl ds izdkj ijA

157. fuEu esa dkSu lsc tSls Qyksa dks yEck cukrs gSa rkfd os mfpr
:i ys ldsa?
(1) ,fFkyhu (2) ftCcsjsfyal
(3) vkWfDlu (4) ABA

158. 'kjkc m|ksx esa ekfYVax dh xfr c<+kus ds fy;s fdldk mi;ksx
djrs gSa?
(1) vkWfDlu (2) GA3 (3) dkbusfVu (4) ABA

159.

(a) (b)

(c) (d)

fn;s x;s pkj vkjs[kksa esa ls dkSulk vkjs[k ,Utkbe mRizsfjr jklk;fud
vfHkfØ;k dh mUufr (izksxjsl) ij fØ;k/kkj dh lkUærk ds izHkko
dks n'kkZrk gS ?
(1) (d) (2) (b)
(3) (c) (4) (a)
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160. Which PGR play important role in development
maturation and dormancy of seed ?
(1) ABA (2) Kinetin
(3) GA (4) Auxin

161. "Interruption of dark period of a plant by flash of
light induce flowering in plant.
Find that plant
(1) Spinach (2) Dahlia
(3) Rice (4) Sun flower

162. Richmond-Lang effect in plant is related with:-
(1) Nutrient mobilisation
(2) Triple response
(3) Parthenocarpy
(4) Fruit ripening

163. Prosthetic group is a non protein part by enzyme
it is :-
(1) loosely attach organic part
(2) tightly attach organic part
(3) loosely attach inorganic part
(4) tightly attach inorganic part

164. Which of the following is example of
macronutrient ?
(1)  Ca,  Mg,  Mn,  Mo (2) K,  P,  Ca,  Zn
(3)  P,  K,  Ca,  Mg (4)  Mg,  S,  Zn,  B

165.

Major Pathway of Anaerobic respiration Identify
A, B and C :-

A B C
(1) NAD+ Ethanol Lactic acid
(2) Ethanol NAD+ Lactic acid
(3) Lactic acid Ehtanol NAD
(4) NAD Lactic acid Ethanol

160. fuEufyf[kr esa ls dkSu lk PGR cht ds fodkl ifjiDou rFkk
izlqIrkoLFkk esa egRoiw.kZ Hkwfedk fuHkkrk gS ?
(1) ABA (2) dkbusfVu
(3) GA (4) vkWfDtu

161. ",d ikS/ks ds va/kdkj vof/k dks izdk'k ls vo:¼ djus ij mlesa
iq"ilu izsfjr gksrk gS"
og ikS/kk gSA
(1) ikyd (2) Msgfy;k
(3) /kku (4) lwjteq[kh

162. ikS/kksa esa Richmond-Lang izHkko lEcfU/kr gSA
(1) iks"kd rRoksa ds xfr'khyrk ls
(2) f=xquh izfØ;k
(3) vfu"ksdQyu
(4) Qyksa dk iduk

163. izk sLFk sfVd lewg , atkbe dk vizk sVhu Hkkx gk srk gS] ;g
gS
(1) <hyk vkc¼ dkcZfud Hkkx
(2) n`<+ vkc¼ dkcZfud Hkkx
(3) <hyk vkc¼ vdkcZfud Hkkx
(4) n`<+ vkc¼ vdkcZfud Hkkx

164. fuEu esa ls dkSu o`grekf=d rRo ds mnkgj.k gS \

(1)  Ca,  Mg,  Mn,  Mo (2) K,  P,  Ca,  Zn

(3)  P,  K,  Ca,  Mg (4)  Mg,  S,  Zn,  B

165. Xywdkst

fXylsjfYMgkbM

QkLQsV3-

3-QkWLQksfXylfjd 
vEy

A

C

QkLQksbuksy
ikb:fod vEy

ikb:fod
vEy

B

NAD+

NADH + H+

NAD+

NADH + H+

+ CO2

fp=  es a  vok;oh;  'olu dk eq[;  iFk A, B o  C
igpkfu, :-

A B C
(1) NAD+ ,FksukWy ysfDVd vEy
(2) ,FksukWy NAD+ ysfDVd vEy
(3) ysfDVd vEy ,FksukWy NAD
(4) NAD ysfDVd vEy ,sFksukWy
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166. If oxygen is labelled with 18O, which molecule will
become radioactive as glycolysis, Kreb's cycle and
oxidative phosphorylation are completed ?
(1) Water (2) CO2

(3) ATP (4) NADH2

167. Go through the following statements :
(I) Promotes flowering in pineapple
(II) Used to prepare weed free lawn
(III) Promotes the abscission of older mature

leaves and fruits
The above functions are carried out by :-
(1) GA (2)  C2H4

(3) ABA (4) Auxin
168. Which one is not a cofactor ?

(1) Coenzyme (2) Apoenzyme
(3) Prosthetic group (4) Metal ions

169. Go through the following figure :

            

Now, point out the incorrect statement :-
(1) Movement of solvent molecules will take place

from chamber A to B
(2) Movement of solute will take place from

chamber A to B
(3) Presence of a SPM is a prerequisite for this

process to occur
(4) The direction and the rate of osmosis depend

upon both the pressure gradient and
concentration gradient

170. (I) Helps in the formation of middle lamella

(II) Needed in spindle fibre formation

(III) Accumulates in older leaves

(IV) Involved in normal functioning of cell

membrane
The above list is associated with :-
(1) Fe (2) Mg
(3) Ca (4) Cu

166. ;fn vkWDlhtu 18O ls ukekafdr gS] dkSu lk v.kq Xykbdksykbfll]
Øsc pØ o vkWDlhdkjh QkWLQksfjyhdj.k ds iw.kZ gksus ij
jsfM;ks,fDVo gks tk;sxk ?
(1) ty (2) CO2

(3) ATP (4) NADH2

167. fuEu dFkuksa dks if<+, :

(I) vukukl esa iq"iu dks izsfjr djrk gSA

(II) 'kkd eqDr LFkku cukukA

(III) iqjkuh ifjiDo i.kZ ,oa Qy ds foyxu dks izsfjr djrk gSA

mijksDr dk;Z fdlds }kjk laiUu gksrs gS ?

(1) GA (2)  C2H4

(3) ABA (4) vkWfDlu
168. dkSu lgdkjd ugha gS ?

(1) dks,atkbe (2) ,iks,atkbe
(3) izksLFksfVd lewg (4) /kkrq vk;u

169. fuEu fp= ls xyr dFku pqfu, :

            

(1) foyk;d v.kqvksa dh xfr dks"B A ls B eas gksxhA

(2) foys; dh xfr A dks"B ls B esa gksxhA

(3) SPM dh mifLFkfr bl izfØ;k ds fy, vko';d
gSA

(4) ijklj.k dh fn'kk o nj] nkc izo.krk o lkUærk izo.krk nksuksa
ij fuHkZj djrh gSA

170. (I) e/; ysfeyk ds fuekZ.k esa lgk;dA

(II) rdqZ radq ds fuekZ.k esa lgk;dA

(III) iqjkuh ifÙk;ksa esa laxzfgrA

(IV) dksf'kdk f>Yyh ds lkekU; dk;ksZa esa lgk;dA

mijksDr lwph fdlls lacaf/kr gS ?

(1) Fe (2) Mg

(3) Ca (4) Cu
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171. The biochemical objective of PSI is to :-
(1) Oxidize NADPH
(2) Hydrolyze ATP
(3) Oxidise water
(4) Reduce NADP+

172. Chemiosmosis needs :-
(1) A membrane
(2) A proton pump
(3) A proton gradient and ATPase
(4) All of these

173. In  C4 plants, during photosynthesis C4 acid
undergoes decarboxylation in ..................... to
produce C3 acid (pyruvic acid) and ................:-
(1) Mesophyll, O2

(2) Bundle sheath, CO2

(3) Grana, CO2

(4) Bundle sheath, CO2

174. Photoperiodism was first characterized in :-
(1) Tobacco (2) Potato
(3) Tomato (4) Cotton

175. A process that makes important difference
between C3 and C4 plants is :-

(1) Photosynthesis

(2) Photorespiration

(3) Transpiration

(4) Glycolysis

176. The oxygen evolved during photosynthesis comes
from water molecules. Which one of the following
pairs of elements is involved in this reaction ?

(1) Magnesium and chlorine

(2) Manganese and chlorine

(3) Manganese and potassium

(4) Magnesium and molybdenum

177.  For its activity, carboxypeptidase requires :-

(1) zinc (2) iron

(3) niacin (4) copper

171. PSI dk tSojklk;fud mn~ns'; gS :-
(1) NADPH dk vkDlhdju
(2) ATP dk ty vi?kVu
(3) ty dk vkWDlhdj.k
(4) NADP+ dk vip;u

172. jlk;u ijklj.k ds fy, vko';d gS :-
(1) f>Yyh
(2) izksVkWu iEi
(3) izksVkWu izo.krk rFkk ATPase
(4) mijksDr lHkh

173. C4 ikniksa esa] izdk'k la'ys"k.k ds nkSjku C4 vEy .....................
esa fodkcksZfDlyhdj.k djds C3 vEy (ikb:fod vEy) rFkk
................ cukrs gS :-
(1) ehlksfQy,  O2

(2) caMy'khFk, CO2

(3) xzsuk, CO2

(4) caMy'khFk, CO2

174. izdk'k nhfIrdkfyrk loZizFke fdlesa [kkstk x;k ?
(1) rEckdw esa (2) vkyw esa
(3) VekVj esa (4) dikl esa

175. C3 rFkk C4 ikS/kksa eas ,d izeq[k vUrj djus okyh izfØ;k D;k gS ?

(1) izdk'k la'ys"k.k

(2) izdk'k&'olu

(3) ok"iksRltZu

(4) Xyksbdksykbfll

176. izdk'k la'ys"k.k ds nkSjku fu"dkflr vkWDlhtu ty ls vkrh gSA

bl vfHkfØ;k esa fuEufyf[kr rRoksa dk dkSu ;qXe 'kkfey gS ?

(1) eSfXuf'k;e vkSj Dyksjhu

(2) eSaxuht vkSj Dyksjhu

(3) eSaxuht vkSj iksVsf'k;e

(4) eSfXuf'k;e vkSj eksfyCMsue

177. dkckZsfDlisIVkbMst  dh lfØ;rk ds fy, vko';d gS ?

(1) ftad (2) vk;ju

(3) uh;kflu (4) dkWij
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178. Which complex of ETS has both iron and copper?

(1) I-complex (2) II-complex

(3) III-complex (4) IV-complex

179. How many given statements are incorrect about
fermentation ?

(A) 7% concentration of alcohol is poisonous for
yeast cells.

(B) 13% energy trapped in ATP by partial
breakdown of glucose.

(C) NADH(H)+ oxidised vigorously.

(D) Very common in higher organisms.

(1) Three (2) Four (3) Two (4) One

180. One glucose on complete oxidation yield 36 ATP.
During this oxidation of glucose, what is the
contribution of Krebs cycle via oxidative
phosphorylation :-

(1) 11 ATP (2) 12 ATP

(3) 22 ATP (4) 24 ATP

178. ETS ds fdl ladqy esa vk;ju rFkk dkWij nksuksa ik;s tkrs gS\

(1) ladqy-I (2) ladqy-II

(3) ladqy-III (4) ladqy-IV

179. fn;s x;s fdrus dFku fd.ou ds ckjs esa xyr gSa ?

(A) ,YdksgWky dh 7% lkUnzrk ;hLV dksf'kdkvksa ds fy,
tgjhyh gksrh gSaA

(B) Xywdkst ds vkaf'kd vWkDlhdj.k ds nkSjku 13% ÅtkZ ATP
esa lafpr dh tkrh gSaA

(C) NADH(H)+ dk vWkDlhdj.k rsth ls gksrk gSaA

(D) mPp thoksa esa lkekU;r% ik;k tkrk gSaA

(1) rhu (2) pkj

(3) nks (4) ,d

180. ,d Xywdkst ds iw.kZ vWkDlhdj.k ls 36 ATP dk fuekZ.k gksrk
gSa] Xywdkst ds bl vWkDlhdj.k ds nkSjku ØsCl pØ dk vWkDlhdkjh
QWkLQksfjyhdj.k ds }kjk ;ksxnku fdruk gksrk gSa :-

(1) 11 ATP (2) 12 ATP

(3) 22 ATP (4) 24 ATP

Your Target is to secure Good Rank in Pre-Medical 2020
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Dear Student,

We request you to provide feedback for the test series till you have appeared. Kindly answer the questions

provided on the reverse of paper with honesty and sincerely.

Although our test series questions are extremely well designed and are  able to improve speed, accuracy &

developing examination temperament, yet we are  always open to improvements.

If you have not prepared well for today's test and if you are not feeling good today, then do not blame test

series for it.

We strive to prepare you for all kinds of situations and facing variations in paper, as this can also happen in

Main exam. It is important for you to concentrate on your rank.

Go through the feedback form thoroughly and answer with complete loyalty. Darken your response (2, 1, 0) in

OMR sheet corresponding to :

Distance Learning Programmes
(Session-2019-20)

ALL INDIA TEST SERIES

ABOUT FEEDBACK SYSTEM

Questions

1. How convenient it was for you to enroll in our Distance Learning Course through online mode?

[2] Very Convenient [1] Average [0] Difficult

2. How do you find location of Test Center ?

[2] Approachable from all part of city [1] Average Approachable [0] Difficult to reach

3. Test  Timing :

[2] Comfortable [1] Average [0] Need to be change

4. Do you feel Test starts on time :

[2] Yes Always [1] Some time delayed [0] Always delay

5. The level of test paper [meet all the requirement of competitive examination]

[2] Good standard [1] Average [0] Below average

6. Number of mistake in test papers :

[2] Negligible [1] Are very less [0] Too High

7. Are you satisfied with result analysis ?

[2] Outstanding [1] Average [0] Below average

8. Do you feel our Test Series is able to improve speed, accuracy & developing examination temperament?

[2] Yes I  feel [1] Partly [0] Not at all

9. Response from Allen on email / telephonically

[2] Always good and prompt [1]  Some time delay [0] Not satisfactory

10. Response at test center

[2] Satisfactory [1] Partly Satisfactory [0] Not Good
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Allen ID Card to the Invigilator.

2. No candidate, without special permission of
the Invigilator, would leave his/her seat.

3. The candidates should not leave the
Examination Hall without handing over their
Answer Sheet to the Invigilator on duty.

4. Use of Electronic/Manual Calculator is
prohibited.

5. The candidates are governed by all Rules and
Regulations of the examination with regard to
their conduct in the Examination Hall. All
cases of unfair means will be dealt with as per
Rules and Regulations of this examination.

6. No part of the Test Booklet and Answer Sheet
shall be detached under any circumstances.

7. The candidates will write the Correct Name
and Form No. in the Test Booklet/Answer
Sheet.

Corporate Office : ALLEN CAREER INSTITUTE, “SANKALP”, CP-6, Indra Vihar, Kota (Rajasthan)-324005

 +91-744-2757575    dlp@allen.ac.in   www.dlp.allen.ac.in, dsat.allen.ac.in

fuEufyf[kr funs Z'k /;ku ls i<+ s a :

1. iwNs tkus ij izR;sd ijh{kkFkhZ] fujh{kd dks viuk ,yu igpku
i= fn[kk,A

2. fujh{kd dh fo'ks"k vuqefr ds fcuk dksbZ ijh{kkFkhZ viuk
LFkku u NksM+ sA

3. dk;Zjr fujh{kd dks viuk mÙkj&i= fn, fcuk dksbZ ijh{kkFkhZ

ijh{kk gkWy ugha NksM+sA

4. bysDV ª k W fud@gLrpfyr ifjdyd dk mi;k sx oftZr
gSA

5. ijh{kk gkWy esa vkpj.k ds fy, ijh{kkFkhZ ijh{kk ds lHkh

fu;eksa ,oa fofu;eksa }kjk fu;fer gSA vuqfpr lk/ku ds lHkh

ekeyksa dk QSlyk ijh{kk ds fu;eksa ,oa fofu;eksa ds vuqlkj

gksxkA

6. fdlh gkyr esa ijh{kk iqfLrdk vkSj mÙkj&i= dk dksbZ Hkkx
vyx u djsaA

7. ijh{kk iqfLrdk@mÙkj&i= esa ijh{kkFkhZ viuk lgh uke o QkWeZ
uEcj fy[ks aA
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Ans. 1 1 2 3 1 1 4 2 2 3 4 4 4 1 2 2 1 4 2 3
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3.

q

90°q
I

T

BI(2 )dl

dl dlT

r

2T cos(90 – q) = BI(2dl)

Þ T sin q = BId l

Þ T BI
r

d
´ = d
l

l

Þ = =
p

BIL
T BIr

2

4. From constraint relations, we can see that
vA = 2 vB

Therefore, vA =  2(0.3)  =  0.6  m/s
as vB =  0.3  m/s (given)
Applying Wnc = DU + DK

we get –µ mAgSA = –mBgSB + 2 2
A A B B

1 1m v m v
2 2

+

Here SA = 2SB = 2m
as SB =  1m (given)
\ –µ(4.0) (10) (2)

= –(1) (10)(1) + 2 21 1(4)(0.6) (1)(0.3)
2 2

+

or –80 µ = –10 + 0.72 + 0.045
or  80 µ = 9.235
or       µ  =  0.115

5. 2 2
rms dci R 3i R=

rms dci i 3 2 3 A= =

6. In an elastic collision : vsep =  vapp

or v'  –  u = v + u or  v'  = v + 2u

wall
u

m

m
v'

v

Change in momentum of ball is
|pf –  pi| = |m(–v') – mv|

 = m(v'  + v)  = 2m(u + v)

Average force is P 2m(u v)
t t

D +
=

D D

Change  in  KE,  Kf –  Ki = 
1
2

mv'2 – 
1
2

mv2

= 2mu(u + v)

8.
2L

K
2I

=

2
A A B

2
B A B

K L 2I
K 2I 2I

= ´
( )2

B B

2B
B

5L I
I

L
4

´
=

´

= 4 × 25 = 100

9. P0 = Vsis Þ is = 
3

0
3

S

P 6.6 10
V 4.4 10

´
=

´
 = 1.5 A

10.

N

mg

A

N

mg

B

mv2

R

N

mg

C
mv2

R

11. Impedance of RC circuit

2
2 1

Z R
C

æ ö= + ç ÷wè ø

0
1 2

2

E
i

1
R

100 C

=
æ ö+ ç ÷pè ø

, 0
2 2

2

E
i

1
R

500 C

=
æ ö+ ç ÷pè ø

i1 < i2

12.
m p

= = m p
2 2

2 20
0

N r
L n r l

l

L µ (Linear terms)3

13. H = ni  = 10
3
 × 2 = 2000 A/m

14. W F dx= ò

2a

2a

k
dx

x

+

+

-æ ö= ç ÷è øò
+

+

é ù= ê úë û

2a

a

k
x

k
2a

= -
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15.

2vr

1vr

3vr

120°

120°
120°

1 2 3
cm

mv mv mv
v 0

m m m
+ +

= =
+ +

r r r
r

          (Q v1 = v2 = v3)

16. Apply conservation of angular momentum :
Iiwi = Ifwf

Þ
( )2

2 2
f

m 2R1 1
mR 2.4 mR

2 2 12

æ ö
ç ÷´ = + w
ç ÷
è ø

Þ wf = 1.44 rev/s
17. If width of magnetic field is small, particle emerges

from other side

If magnetic field is large

18. As each of three part has same KE.

So speed must be same for these three mutually

perpendicular fragments.

Let  it  is  v  and  let  speed  of  fourth  is  V.
Then total momentum is

+ + +
r ˆ ˆ ˆmV mvi mvj mvk

Þ ( )= - + +
r ˆ ˆ ˆV v i j k

\ =V v 3

Total  KE = ( )2
2 2 21 1 1 1

mv mv mv m v 3
2 2 2 2

+ + +

2
0

1
6 mv 6E

2
= ´ =

19. Condition for velocity on banked road

Q

2v
tan

rg
q =

\ v rg tan= q

But 
2

tan sin
20

q q q =; ;          (for  small-angle)

\
2

v 15 9.8 14.7 m/s
20

= ´ ´ =

20. 3L
2 10

R
-t = = ´ ......(i)

3L
' 0.5 10

R 90
-t = = ´

+
......(ii)

(i)/(ii) Þ 
R 90

4
R
+

=

R = 30 W

L = 2 × 10–3 ×  30  =  60  mH

22. Since  particle  is  at  rest,  i.e.  v  =  0,  hence  Fm =  0

For electric force, E ¹ 0

23. In  first  case,  XL = wL  =  2p × 50 L = 10 pL

In second case, X'L = w'L  =  2p ×  100  L

= 200 pL =  2XL

L L
L L L

100 100 100 I
i I, i'

X X' 2X 2
= = = = =

In R, current remains same.

24. P Q

A B

v

P Q

A B

R/2

R/2

P Qi

ie

R
4

e 4e 4·Bv·2r 8Bvr
i

R / 4 R R R
= = = =
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25.

N

mg

fr

centripetal accelration

26. Work done by friction :

( )= m q = m q
q

h
W mgcos S ( mgcos )

sin

= mmgh cot q

Now cot q1 =  cot  30°  =  3

2

1
cot cot 60

3
q = ° =

i.e., kinetic energy (KE = mgh – W) in first case
will  be less  or  K1 <  K2.

27. Since linear acceleration is same for all
(a  = Mg sin q – m Mg cos q)  as  they  have  same
mass 'M' and same 'm'.

Hence, all will reach the bottom simultaneously.

28.
Bq
m

w =

29. By symmetry xCM = 
2
l

( ) ( )
cm

3
2m m 2m m 2

72 2
y

6m 6

æ ö æ ö+ + +ç ÷ ç ÷
è ø è ø= =

l l
l l

l

31. At constant speed, there is no acceleration, so the
forces acting on the train are in equilibrium.

Therefore,  F = R = 3 × 104 N

Power P = Fv

= 3 × 104 × 40

= 1.2 × 106  W

32. Power factor (cos f)

v v

True power (P)
Apparent power (E )

=
I

33. Using conservation of angular momentum,

2 2
2 2 1 1mr mrw = w

or
2

2 1
2

1 2

r
r

w =
w

Again, 
é ùw

= = = ´ =ê úw ë û
1

2

2 22 2 2 2 21k 1 1 1 2 2
2 2 2 2 2

2k 2 2 2 1 1
2

1
mvE r r r r2

1E r r r rmv
2

Again, 
22 2 3

2 2 2 2 1 1
2 2 3

1 1 1 1 2 2

T mr r r r
T mr r r r

é ùw
= = ´ =ê úw ë û

34. 2
0 1 1 2M r n n= m p l

0 1 2AN Nm
=

l

7 44 10 10 10 300 400
0.2

- -p´ ´ ´ ´ ´=

= 2.4 p × 10–4 H

36. Pi = 0

Pf =  0,   So  speed  of  C  is  equal  to  that  of  B  and
moving in opposite direction.

So Ans. is v.

37. ( ) ( )dU
f x x

dx
= -

or ( ) ( )= -òU x F x dx

Here F(x) = –kx, where k is a positive constant.

U(x) = 21
k xdx kx

2
+ =ò

i.e. parabola
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38. Here R = 27 W,  XL = 40 W

\ Impedance of the LR-circuit

2 2 2 2
L LZ R X (25) (40) 47= + = + = W

Power factor 
L

R 25cos 0.53.
Z 47

f = = =

Now  E0 = 220 V and I0 = 5 amp.

\ Power consumed

=  EvIvcosf 0 0E 220 5 0.53cos
22 2

I ´ ´
= ´ f = =292W

39. B = 
4

8

E 10
c 3 10

=
´

= 3.33 × 10–5 T

41. The tangential acceleration is along the tangent and
ac acts radially inwards. The resultant acceleration

30°
a

aCO

at

2 2
c ta a a= + (from figure)

\ c

t

a
tan30

a
° =

42. The initial velocity of CM is upward. The
acceleration of the CM is 'g' downward.

43. av . t Lt D = D
rr

f i| L | | L L |D = -
r r r

 above point of projection.

  =  (mu  sin  q) (Range)

  = 
2 3(musin )(u sin 2 ) mu sin sin 2

g g
q q q q

=

3

av
L mu sin sin g| |
t g 2usin

D q 2q
t = =

D q

r
r

      = 
2mu sin 2

2
q

44. Two force are acting on bob, tension and weight.
Power of tension will be zero and that of weight
is,

q

mg

v = 2 m/s
q = 60°

T

q

P = mgv cos(90° + q)

   = –mgv sin60°

   = 
3

50 9.8 2 490 3 W
2

- ´ ´ ´ = -

\ Power delivered is 490 3 w

45. 21
Li 32

2
=  Þ ( )21

L 4 32
2

´ =

L = 4 H

i2R = 320  Þ  (4)2R = 320

R = 20 W

t = 
L 4 0.2sec
R 20

= =

46. due to back bonding el– deficiency of 'B'

compensates i.e. why el– pair accepting tendency

is less.

47. R-SiCl3 4HO¾¾¾®  R-Si(OH)3 ¾® cross-linked

silicone

48. VwR ; 2  ×  CR

49. Ca3P2 + 6HOH ® 3Ca(OH)2 + 2PH3

CaC2 + 2HOH ® Ca(OH)2 +  C2H2

Mg3N2 + 6HOH ® 3Mg(OH)2 + 2NH3
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50. SO2 + 2H2O ¾® H2SO4 + 2[H]

Coloured substance + 2[H] ¾® colourless

51. (1) Ca3P2 + 6HOH ¾® 3Ca(OH)2 + 2PH3

(2) H3PO3 
D¾¾®  PH3 + H3PO4

(3) P4 + NaOH ¾® NaH2PO2 + PH3

52. MF + XeF4 ¾® M+ + [XeF5]
–

  ¯

              sp3d3(5s + 2LP)

             Pentagonal  planar

53. Antichlor - used to decompose residual
hypochlorite or chlorine.

55. Smelting is a process in which metal oxide reduce
to metal.

56. Bond dissociation energy of D–O > Bond
dissociation energy of H–O.

So D2O will undergoes less dissociation than H2O.

57. H S + 2 H O       S + 2H O 2 2 2

oxidation–2 O
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